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Importing Execution Results

Execution results can be imported to Jira through JSON/XML representation formats specified in Import Execution Results.

For each import file format, Xray provides a specific REST endpoint:

Xray JSON format

Xray JSON format multipart

Cucumber JSON output format
Cucumber JSON output format multipart
Behave JSON output format

Behave JSON output format multipart
JUnit XML output format

JUnit XML output format multipart
TestNG XML output format

TestNG XML output format multipart
NUnit XML output format

NUnit XML output format multipart
Robot Framework XML output format
Robot Framework XML output format multipart

Compressed .zip file (e.g., Calabash execution results)

Xray JSON results

When importing execution results using Xray JSON result format in a Continuous Integration environment, you can specify which Test Execution issue to
import the results on using the "testExecutionKey" property. Alternatively, you can create a new Test Execution for the execution results and specify the
Test Execution issue fields in the "info" object.

Import the execution results present in query variable "executionResults".

Request

Example 1: new Test Execution


https://docs.getxray.app/display/XRAY400/Import+Execution+Results
https://github.com/calabash
https://docs.getxray.app/display/XRAY400/Import+Execution+Results#ImportExecutionResults-XrayJSONformat

Example Input

{
"info" : {
"sumary" : "Execution of autonated tests for release vl1.3"
"description" : "This execution is automatically created when inporting execution results
from an external source"
"version" : "vl1.3"
"user" : "adm n",
"revision" : "1.0.42134"
"startDate" : "2014-08-30T11:47:35+01: 00",
"finishDate" : "2014-08-30T11: 53: 00+01: 00"
"t est Pl anKey" : "DEMO 100",
“testEnvironments": ["i0OS", "Android"]
b
"tests" [
{
"testKey" : "DEMO 6",
"start" : "2014-08-30T11: 47: 35+01: 00"
"finish" : "2014-08-30T11: 50: 56+01: 00"
"conment" : "Successful execution",
"status" : "PASS"
b
{
"testKey" : "DEMO- 7",
"start" : "2014-08-30T11:51: 00+01: 00"
"finish" : "2014-08-30T11: 52: 30+01: 00"
"comment" : "Execution failed. Exanple #5 FAIL.",
"status" : "FAIL",
"evi dences" : [
{
"data":

" i VBORWOKGg0AAAANSUhEUgAABK I AAAOI CAYAAADe z Xv 6 AAAAAXNSROI Ar s4¢ 6 QAAAARNQULBAACK] w 8 YQUAAAAJ ¢ EhZc WAAEN(
file enconding)",

"filenane": "image2l.]jpg"
"content Type": "inage/jpeg"
}
1.
"exanpl es" : [
" PASS",
" PASS",
" PASS",
" PASS",
"FAI L"
I,
"steps": [
{
"status": "PASS"
"comment": "Conment on Test Step Result 1",
"evidences" : [
{
"data":

"I VBORWOKGg0AAAANSUNEUgAABK I AAACO CAYAAADez Xv 6 AAAAAXNSROI Ar s4c 6 QAAAARN QUL BAACKj w 8 YQUAAAAJ c EhZcwAAEN(
file enconding)",

"filenane": "inmage22.jpg"
"content Type": "inmge/jpeg"
}
1.
"actual Result": "Actual result on Test Step 1"
}
1.
"defects" : [
" DEMO- 10"
" DEMO- 11"

... base64

... base64



Example 2: update existing Test Execution

Example Input

{
"t est Executi onKey": "DEMO 1206",
"info" @ {
"summary" : "Execution of automated tests for rel ease v1.3",
"description" : "This execution is automatically created when inporting execution results
froman external source",
"version" : "v1.3",
"user" : "adm n",
"revision" : "1.0.42134",
"startDate" : "2014-08-30T11:47:35+01: 00",
"finishDate" : "2014-08-30T11:53: 00+01: 00",
"t est Pl anKey" : "DEMO 100",
"testEnvironments": ["iOS", "Android"]
}
"tests" : [
{
"testKey" : "DEMO 6",
"start" : "2014-08-30T11: 47: 35+01: 00",
"finish" : "2014-08-30T11: 50: 56+01: 00",
"comment" : "Successful execution",
"status" : "PASS'
}
]
}

@ Example Request

curl -H "Content-Type: application/json" -X POST -u admin:admin --data @data.json http://yourserver/rest/raven/1.0/import/execution

Responses

. application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"t est Execl ssue": {
"id": "10000",
"key": "DEMO 123",
"self": "http://ww. exanple.conmjiral/rest/api/2/issue/ 10000"
}
}

- application/json : No execution results where provided.
: application/json : The Xray license is not valid.

. application/json : An internal error occurred when importing execution results.

Xray JSON results Multipart

Xray provides another endpoint if you want to create or update a Test Executions and have control over all Test Execution fields. It allows you to send two
JSON files, the normal Xray JSON result and a JSON similar to the one Jira uses to create/update issues. For more information about that second format,
check the Jira documentation here. Note that in this endpoint the i nf o property in the Xray Json result part will be ignored.


https://docs.atlassian.com/software/jira/docs/api/REST/7.4.1/#api/2/issue-createIssue

Import the execution results present in query variable "executionResults".
Request

Example 1: new Test Execution

Result Json
{
"tests" : [
{
"testKey" : "DEMO 6",
"start" : "2014-08-30T11: 47:35+01: 00",
"finish" : "2014-08-30T11: 50: 56+01: 00",
"comment" : "Successful execution",
"status" : "PASS'
}
{
"testKey" : "DEMO- 7",
"start" : "2014-08-30T11:51: 00+01: 00",
"finish" : "2014-08-30T11: 52: 30+01: 00",
"comment" : "Execution failed. Exanple #5 FAIL.",
"status" : "FAIL",
"evidences" : [
{
"data":

" i VBORWOKGg0AAAANSUhEUgAABK I AAAOI CAYAAADez Xv 6 AAAAAXNSROI Ar s4¢c6QAAAARNQULBAACK] w 8YQUAAAAJCEhZCWAAEN( . . . base64
file enconding)",

"filenane": "image2l.jpg",
"content Type": "inmage/jpeg"
}
I
"exanpl es" : [
" PASS",
" PASS",
" PASS",
" PASS",
"FAI L"
1.
"steps": [
{
"status": "PASS',
"comment": "Comment on Test Step Result 1",
"evidences" : [
{
"data":

" i VBORWMOKGg0AAAANSUNEUgAABK I AAACO CAYAAADez Xv 6 AAAAAXNSROI Ar s4c 6 QAAAARN QULIBAACKj w 8YQUAAAAJCEhZCWAAEN( . . . base64
file enconding)",

"filenane": "image22.jpg",
"content Type": "inmge/jpeg"
}
I
"actual Result": "Actual Result on Test Step 1"
}
I,
"defects" : [
" DEMO- 10",
" DEMO- 11"



Info JSON (Test Execution)

{
"fields": {
"project": {
"id": "10402"
b
"sumuary": "Brand new Test execution”,
"issuetype": {
"id": "10007"
b
"conponents" : [
{
"nane":"Interface"
b
{
"nanme": " Core"
}
1.
"custonfiel d_10032" : [
" TES- 38"
]
}
}
Example 2: update existing Test Execution
Result Json
{
"t est Executi onKey": "DEMO 1206",
"tests" : [
{
"testKey" : "DEMO 6",
"start" : "2014-08-30T11: 47: 35+01: 00",
"finish" : "2014-08-30T11: 50: 56+01: 00",
"conment" : "Successful execution",
"status" : "PASS"
}
]
}

Info JSON (Test Execution)

{
"fields": {
"custonfiel d_10032" : [
"a_l abel "
1.
"description": "update the issue description"
}
}

@ Example Request

curl -u admin:admin -F info=@issueFields.json -F result=@results.json http://yourserver/rest/raven/1.0/import/execution/multipart

Responses

. application/json : Successful. The results where successfully imported to Jira.



Example Output

{
"t est Execl ssue": {
"id": "10000",
"key": "DEMO 123",
"self": "http://ww. exanple.conmljiral/rest/api/2/issue/ 10000"
}
}

- application/json : No execution results where provided.
: application/json : The Xray license is not valid.

. application/json : An internal error occurred when importing execution results.

Cucumber JSON results

After executing Cucumber features, you must import the outputted JSON execution results to Jira using the following endpoint:

Import the execution results created with the Cucumber JSON output formatter. For more information please check the Cucumber reports
documentation (example here).

Request

Example

Example Input

{
"keyword": "Feature",
"nane": "Arithnetic Operations",
"line": 3,
"description": ""
"tags": [
{
“name": " @EMO 48",
"line": 1
b
{
“name": " @REQ DEMD- 45",
"line": 2
}
I,
"id": "arithmetic-operations",
"uri": "features/1_DEMD 45.feature",
"elenments": [
{
"comments": [
{
"value": "#ln order to avoid silly m stakes",
"line": 4
H
{
"value": "#As a math idiot ",
"line": 5
H
{
"value": "#| want to be told the result of basic arithnetic operations between two nunbers",
"line": 6


https://cucumber.io/docs/cucumber/reporting/#built-in-reporter-plugins
https://cucumber.io/docs/cucumber/reporting/#built-in-reporter-plugins
http://www.relishapp.com/cucumber/cucumber/docs/formatters/json-output-formatter

1.

"keyword": "Scenario Qutline"
"nane": "Add two Nunbers",
"l'ine": 18,
"description": ""
"tags": [
{
"nane": " @EST_DEMO 47",
"line": 9
}
1.
"id": "arithmetic-operations;add-two-nunbers;; 2",
"type": "scenario",
"steps": [
{
"enbeddi ngs": [
{
"mme_type": "text/plain",
"data": "{data base64}"
PA
"mme_type": "text/plain",
"data": "{data base64}"
}
1.
"keyword": "Gven ",
"nane": "l have entered 20 into the calculator",
"line": 11,
"match": {
"argunents": [
{
"of fset": 15
"val": "20"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 14"
}
"result": {
"status": "passed",
"duration": 487000
}
},
{
"keyword": "And ",
"nane": "l have entered 30 into the cal culator",
"line": 12,
"match": {
"argunents": [
{
"of fset": 15
"val": "30"
}
1,
"l ocation": "features/step_definitions/calculator_steps.rb: 14"
}
"result": {
"status": "passed",
"duration": 340000
}
},
{
"keyword": "When ",
"nanme": "l press add",
"l'ine": 13,
"match": {
“argunents": [
{
"offset": 8
"val ": "add"
}
1,

"location": "features/step_definitions/calcul ator_steps.rb: 18"



},

"result": {
"status": "passed",
"duration": 327000
}
H
{
"keyword": "Then ",
"nane": "the result should be 50 on the screen",
"line": 14
"match": {
"argunments": [
{
"of fset": 21,
"val ": "50"
}
1.
"l ocation": "features/step_definitions/calculator_steps.rb: 22"
}
"result": {
"status": "passed",
"duration": 11723000
}
}
]
3
{
"comments": [
{
"value": "#ln order to avoid silly m stakes"
"line": 4
},
{
"value": "#As a math idiot ",
"line": 5
H
{
"value": "#| want to be told the result of basic arithnetic operations between two nunbers"
"line": 6
}
1.
"keyword": "Scenario Qutline"
"nane": "Add two Nunbers",
"l'ine": 19,
"description": ""
"tags": [
{
"nane": " @EST_DEMO 47",
"line": 9
}
1.
"id": "arithmetic-operations;add-two-nunbers;; 3",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",
"nane": "l have entered 2 into the calculator",
"line": 11,
"match": {
"argunents": [
{
"offset": 15
"val ": "2"
}
1.
"location": "features/step_definitions/calculator_steps.rb: 14"
}
"result": {
"status": "passed",

"duration": 992000



H

{
"keyword": "And ",
"nane": "l have entered 5 into the calculator",
"line": 12,
"match": {
"argunents": [
{
"of fset": 15,
"val ": "5"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 14"
H
"result": {
"status": "passed",
"duration": 775000
}
}
{
"keyword": "When ",
"nanme": "l press add",
"l'ine": 13,
"match": {
"argunents": [
{
"of fset": 8,
"val ": "add"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 18"
}
"result": {
"status": "passed",
"duration": 322000
}
b
{
"keyword": "Then ",
"nane": "the result should be 7 on the screen",
"line": 14,
"match": {
"argunents": [
{
"of fset": 21,
“val": o "7"
}
1.
"location": "features/step_definitions/calcul ator_steps.rb: 22"
},
"result": {
"status": "passed",
"duration": 423000
}
}
]
H
{
"coments": [
{
"value": "#ln order to avoid silly m stakes",
"line": 4
b
{
"value": "#As a math idiot ",
"line": 5
},
{
"value": "#| want to be told the result of basic arithnetic operations between two nunbers”,
"line": 6



1.

"keyword": "Scenario Qutline",
"nane": "Add two Nunbers",
"l'ine": 20,
"description": "",
"tags": [
{
"nane": " @EST_DEMO 47",
"line": 9
}
1.
"id": "arithmetic-operations;add-two-nunbers;; 4",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",
"nane": "l have entered O into the calculator",
"line": 11,
"match": {
"argunments": [
{
"of fset": 15,
"val ": "O0"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 14"
}
"result": {
"status": "passed",
"duration": 384000
}
I
{
"keyword": "And ",
"nanme": "l have entered 40 into the cal culator",
"line": 12,
"match": {
"argunments": [
{
"of fset": 15,
"val ": "40"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 14"
H
"result": {
"status": "passed",
"duration": 313000
}
I
{
"keyword": "When ",
"nane": "l press add",
"l'ine": 13,
"match": {
"argunents": [
{
"of fset": 8,
"val ": "add"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 18"
b
"result": {
"status": "passed",
"duration": 280000
}
3
{

"keyword": "Then ",
"nane": "the result should be 40 on the screen",



ine": 14,

"match": {
"argunments": [
{
"of fset": 21,
"val ": "40"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb:22"
b
"result": {
"status": "passed",
"duration": 350000
}
}
]
"keyword": "Scenario Qutline",
"nane": "Divide Two Nunbers",
"line": 32,
"description": "",
"tags": [
{
"nanme": " @EST_DEMO 46",
"line": 23
}
1.
"id": "arithmetic-operations;divide-two-nunbers;;2",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",
"nane": "l have entered 8 into the calculator",
"l'ine": 25,
"match": {
"argunents": [
{
"of fset": 15,
"val ": "8"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 14"
H
"result": {
"status": "passed",
"duration": 344000
}
b
{
"keyword": "And ",
"nane": "l have entered 4 into the calculator",
"line": 26,
"match": {
"argunents": [
{
"of fset": 15,
“val ": "4
}
1.
"l ocation": "features/step_definitions/calculator_steps.rb: 14"
o
"result": {
"status": "passed",
"duration": 292000
}
},
{

"keyword": "When ",
"name": "I press divide",

ne": 27,



"match": {
"argunents": [

{
"of fset": 8,
"val ": "divide"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 18"
H
"result": {
"status": "passed",
"duration": 291000
}
H
{
"keyword": "Then ",
"nane": "the result should be 2 on the screen",
"l'ine": 28,
"match": {
"argunments": [
{
"of fset": 21,
"val": "2"
}
1.
"location": "features/step_definitions/calculator_steps.rb: 22"
o
"result": {
"status": "passed",
"duration": 320000
}
}
]
3
{
"keyword": "Scenario Qutline",
"nane": "Divide Two Nunbers",
"l'ine": 33,
"description": ""
"tags": [
{
"nanme": " @EST_DEMO- 46",
"line": 23
}
I,
"id": "arithmetic-operations;divide-two-nunbers;; 3",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",
"nane": "l have entered 12 into the cal culator",
"l'ine": 25,
"match": {
"argunents": [
{
"of fset": 15,
"val ": "12"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 14"
H
"result": {
"status": "passed",
"duration": 1102000
}
3
{
"keyword": "And ",
"nane": "I have entered 3 into the calculator",
"l'ine": 26,

"match": {



"keywor d":

"argu

{

ments": [

"of fset": 15,
wyal " "3

}
1.

"location": "features/step_definitions/calculator_steps.rb: 14"

h

"resul t’

o

"status": "passed",
"duration": 891000

"keyword": "When "

"nanme":
"line":
"mat ch":

"l press divide",
27,
{
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{
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"val ": "divide"

}
]
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I

"result"
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{
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{

}
1
id

{
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{

"of fset": 15,
"val": "3"
}
1.
"location": "features/step_definitions/calcul ator_steps.rb: 14"
b
"result": {
"status": "passed",
"duration": 304000
}
b
{
"keyword": "And ",
"nane": "l have entered 1 into the calculator",
"line": 26,
"match": {
"argunents": [
{
"of fset": 15,
"val": "1"
}
1,

"l ocation": "features/step_definitions/calculator_steps.rb: 14"

},

"result": {
"status": "passed",
"duration": 309000
}
I
{
"keyword": "Wen ",
"nane": "I press divide",
"line": 27,
"match": {
"argunents": [
{
"offset": 8,
"val ": "divide"
}
1.
"location": "features/step_definitions/calculator_steps.rb: 18"
o
"result": {
"status": "passed",
“duration": 257000
}
},
{
"keyword": "Then ",
"nane": "the result should be 5 on the screen",
"l'ine": 28,
"match": {
"argunents": [
{
"of fset": 21,
"val": "5"
}
I,
"location": "features/step_definitions/calcul ator_steps.rb:22"
H
"result": {
"status": "passed",

"duration": 840000



@ Example Request

curl -H "Content-Type: application/json" -X POST -u admin:admin --data @cucumber_output.json http://yourserver/rest/raven/1.0/import
/execution/cucumber

Responses

: application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"t est Execl ssue": {
"id": "10000",
"key": "DEMO 123",
"self": "http://ww.exanple.conljiralrest/api/2/issue/ 10000"
}
}

- application/json : No execution results where provided.

. application/json : The Xray license is not valid.

: application/json : An internal error occurred when importing execution results.

Cucumber JSON results Multipart

Xray provides another endpoint if you want to create new Test Executions and have control over newly-created Test Execution fields. It allows you to send
two JSON files, the normal Cucumber result JSON and a JSON similar to the one Jira uses to create new issues. For more information about that second
format, check the Jira documentation here.

Import the execution results created with the Cucumber JSON output formatter. For more information, please check the Cucumber reports
documentation (example here).

Note: Currently, if you specify the Test Plan custom field, the Tests of the Test Execution will not be added automatically to the Test Plan.

Request
Example
Result Json
[
{
"keyword": "Feature",
"nane": "Arithnmetic Operations",
"line": 3,
"description": "",
"tags": [
{
"nane": " @EMO 48",
"line": 1
3
{
"nane": " @REQ DEMO- 45",
"line": 2
}
1.
"id": "arithmetic-operations",

"uri": "features/1_DEMD 45.feature",


https://docs.atlassian.com/software/jira/docs/api/REST/7.4.1/#api/2/issue-createIssue
https://cucumber.io/docs/cucumber/reporting/#built-in-reporter-plugins
https://cucumber.io/docs/cucumber/reporting/#built-in-reporter-plugins
http://www.relishapp.com/cucumber/cucumber/docs/formatters/json-output-formatter

"elenments": [

{
"comments": [
{
"value": "#ln order to avoid silly m stakes",
"line": 4
I
{
"value": "#As a math idiot ",
"line": 5
}
{
"value": "#| want to be told the result of basic arithnetic operations between two nunbers”,
"line": 6
}
1.
"keyword": "Scenario Qutline",
"nane": "Add two Nunbers",
"l'ine": 18,
"description": "",
"tags": [
{
"nane": " @EST_DEMO 47",
"line": 9
}
1.
"id": "arithmetic-operations;add-two-nunbers;; 2",
"type": "scenario",
"steps": [
{
"enbeddi ngs": [
{
"mne_type": “"text/plain",
"data": "{data base64}"
PA
"mne_type": “"text/plain",
"data": "{data base64}"
}
"keyword": "Gven ",
"nane": "l have entered 20 into the calculator",
"line": 11,
"match": {
"argunents": [
{
"of fset": 15,
"val ": "20"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 14"
I
"result": {
"status": "passed",
"duration": 487000
}
I
{

"keyword": "And ",
"nane": "l have entered 30 into the calculator",

"line": 12,
"match": {
"argunments": [
{
"of fset": 15,
“val ": "30"
}
1.
"location": "features/step_definitions/calculator_steps.rb: 14"
s
"result": {
"status": "passed",

"duration": 340000



b
{
"keyword": "When ",
"nanme": "l press add",
"l'ine": 13,
"match": {
"argunents": [
{
"of fset": 8,
"val ": "add"
}
1.
"l ocation": "features/step_definitions/calcul ator_steps.rb: 18"
b
"result": {
"status": "passed",
"duration": 327000
}
b
{
"keyword": "Then ",
"nane": "the result should be 50 on the screen",
"l'ine": 14,
"match": {
"argunents": [
{
"of fset": 21,
"val": "50"
}
1,
"l ocation": "features/step_definitions/calculator_steps.rb: 22"
}
"result": {
"status": "passed",
"duration": 11723000
}
}
]
},
{
"coments": [
{
"value": "#ln order to avoid silly m stakes",
"line": 4
3
{
"value": "#As a math idiot ",
"line": 5
3
{
"value": "#l want to be told the result of basic arithnmetic operations between two nunbers"”,
"line": 6
}
1.
"keyword": "Scenario Qutline",
"nane": "Add two Nunbers",
"line": 19,
"description": "",
"tags": [
{
"nanme": " @EST_DEMO 47",
"line": 9
}
1.
"id": "arithmetic-operations;add-two-nunbers;; 3",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",

nane": "I have entered 2 into the calculator",



"l'ine": 11,

"match": {
"argunments": [
{
"of fset": 15
"val ": "2"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 14"
b
"result": {
"status": "passed",
"duration": 992000
}
I
{
"keyword": "And ",
"nane": "l have entered 5 into the calculator",
"line": 12,
"match": {
"argunents": [
{
"of fset": 15
"val ": "5"
}
1,
"l ocation": "features/step_definitions/calculator_steps.rb: 14"
}
"result": {
"status": "passed",
"duration": 775000
}
},
{
"keyword": "When ",
"nane": "I press add",
"line": 13,
"match": {
"argunents": [
{
"offset": 8
"val ": "add"
}
1,
"l ocation": "features/step_definitions/calculator_steps.rb: 18"
}
"result": {
"status": "passed",
"duration": 322000
}
},
{
"keyword": "Then ",
"nanme": "the result should be 7 on the screen",
"line": 14
"match": {
“argunents": [
{
"of fset": 21,
"val ": "7
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 22"
}
"result": {
"status": "passed",
"duration": 423000
}
}



"coments": [

{
"value": "#ln order to avoid silly m stakes",
"line": 4
1,
{
"value": "#As a math idiot ",
"line": 5
I
{
"value": "#| want to be told the result of basic arithnetic operations between tw nunbers",
"line": 6
}
1.
"keyword": "Scenario Qutline",
"nane": "Add two Nunbers",
"l'ine": 20,
"description": "",
"tags": [
{
"nanme": " @EST_DEMO 47",
"line": 9
}
1.
"id": "arithmetic-operations;add-two-nunbers;; 4",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",
"nane": "l have entered O into the calculator",
"line": 11,
"match": {
"argunents": [
{
"of fset": 15,
"val ": "O0"
}
1,
"l ocation": "features/step_definitions/calculator_steps.rb: 14"
}
"result": {
"status": "passed",
"duration": 384000
}
3
{
"keyword": "And ",
"nane": "l have entered 40 into the cal culator",
"line": 12,
"match": {
"argunents": [
{
"of fset": 15,
"val ": "40"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 14"
}
"result": {
"status": "passed",
"duration": 313000
}
I
{
"keyword": "When ",
"nane": "l press add",
"line": 13,
"match": {

"argunents": [

{



"of fset": 8,

"val ": "add"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 18"
H
"result": {
"status": "passed",
"duration": 280000
}
}
{
"keyword": "Then ",
"nane": “"the result should be 40 on the screen",
"l'ine": 14,
"match": {
"argunents": [
{
"of fset": 21,
"val": "40"
}
1,
"location": "features/step_definitions/calcul ator_steps.rb: 22"
}
"result": {
"status": "passed",
"duration": 350000
}
}
]
b
{
"keyword": "Scenario Qutline",
"nane": "Divide Two Nunbers",
"line": 32,
"description": ""
"tags": [
{
"nane": " @EST_DEMD 46",
"line": 23
}
I,
"id": "arithmetic-operations;divide-two-nunbers;;2",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",
"nane": "l have entered 8 into the calculator",
"l'ine": 25,
"match": {
"argunents": [
{
"of fset": 15,
"val": "8"
}
1.
"location": "features/step_definitions/calcul ator_steps.rb: 14"
},
"result": {
"status": "passed",
"duration": 344000
}
b
{
"keyword": "And ",
"nane": "l have entered 4 into the calculator",
"l'ine": 26,
"match": {
"argunents": [
{

"of fset": 15,



“yal ": "4

}
1,
"location": "features/step_definitions/calculator_steps.rb: 14"
I
"result": {
"status": "passed",
"duration": 292000
}
I
{
"keyword": "When ",
"nane": "1 press divide",
"l'ine": 27,
"match": {
"argunents": [
{
"of fset": 8,
"val ": "divide"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 18"
b
"result": {
"status": "passed",
"duration": 291000
}
o
{
"keyword": "Then ",
"nane": "the result should be 2 on the screen",
"l'ine": 28,
"match": {
"argunents": [
{
"of fset": 21,
"val ": "2"
}
1,
"l ocation": "features/step_definitions/calculator_steps.rb: 22"
}
"result": {
"status": "passed",
"duration": 320000
}
}
]
I
{
"keyword": "Scenario Qutline",
"nane": "Divide Two Nunmbers"”,
"l'ine": 33,
"description": "",
"tags": [
{
"nane": " @EST_DEMO 46",
"line": 23
}
1.
"id": "arithmetic-operations;divide-two-nunbers;;3",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",
"nanme": "l have entered 12 into the calculator",
"line": 25,
"match": {
"argunents": [
{
"of fset": 15,

"val ": "12"



}

1,
"location": "features/step_definitions/calculator_steps.rb: 14"
b
"result": {
"status": "passed",
"duration": 1102000
}
H
{
"keyword": "And ",
"nane": "l have entered 3 into the calculator",
"line": 26,
"match": {
"argunents": [
{
"of fset": 15,
“val ": "3"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 14"
o
"result": {
"status": "passed",
"duration": 891000
}
3
{
"keyword": "When ",
"name": "l press divide",
"l'ine": 27,
"match": {
"argunents": [
{
"of fset": 8,
"val ": "divide"
}
I,
"location": "features/step_definitions/calculator_steps.rb: 18"
}
"result": {
"status": "passed",
"duration": 291000
}
b
{
"keyword": "Then ",
"nane": "the result should be 4 on the screen",
"l'ine": 28,
"match": {
"argunents": [
{
"of fset": 21,
“val": "4"
}
1.
"location": "features/step_definitions/calcul ator_steps.rb: 22"
},
"result": {
"status": "passed",
"duration": 339000
}
}
]
"keyword": "Scenario Qutline",
"nane": "Divide Two Nunbers",
"l'ine": 34,
"description": "",
"tags": [



{
"name": " @EST_DEMO- 46",

"l'ine": 23
}
I,
"id": "arithmetic-operations;divide-two-nunbers;;4",
"type": "scenario",
"steps": [
{
"keyword": "Gven ",
"nane": "I have entered 3 into the calculator",
"l'ine": 25,
"match": {
"argunents": [
{
"of fset": 15,
“val": "3"
}
1,
"location": "features/step_definitions/calculator_steps.rb: 14"
},
"result": {
"status": "passed",
"duration": 304000
}
I
{
"keyword": "And ",
"nane": "I have entered 1 into the calculator",
"l'ine": 26,
"match": {
"argunents": [
{
"of fset": 15,
"val " "1
}
1,
"location": "features/step_definitions/calculator_steps.rb: 14"
b
"result": {
"status": "passed",
"duration": 309000
}
o
{
"keyword": "Wen ",
"nane": "l press divide",
"line": 27,
"match": {
"argunents": [
{
"of fset": 8,
"val ": "divide"
}
1,
"l ocation": "features/step_definitions/calculator_steps.rb: 18"
},
"result": {
"status": "passed",
"duration": 257000
}
3
{
"keyword": "Then ",
"nane": "the result should be 5 on the screen",
"l'ine": 28,
"match": {
"argunents": [
{
"of fset": 21,

“yal ": "5



}

1,

"l ocation": "features/step_definitions/calculator_steps.rb: 22"
b
"result": {

"status": "passed",

"duration": 840000
}

Info JSON (Test Execution)

{
"fields": {

"project": {
"id": "10402"

},

"sumuary": "Test Execution for cucunber Execution",

"issuetype": {
"id": "10007"

o

"conponents" : [
{
"nane":"Interface"
},
{
"nane": " Core"
}

1.

"custonfield_10032" : [
" TES- 38"

]

}
}

@ Example Request

curl -u admin:admin -F info=@createTestExec.json -F result=@results.json http://yourserver/rest/raven/1.0/import/execution/cucumber
/multipart



@ Assigning Test Environment(s) to Test Execution

It's possible to assign Test Environment(s) to the newly-created Test Execution. For that, you need to pass the ID of the custom field
corresponding to the "Test Environments" custom field. In the JSON example below, it is 10030 for the info object.

Note: Currently, if you specify the Test Plan custom field, the Tests of the Test Execution will not be added automatically to the Test Plan.

{
"fields": {
"project": {
"key": " XRAY"
I
"summary": "Test Execution for cucunber Execution",
"issuetype": {
"id": "10009"
H
"custonfield_10030" : [
"i0s", "Android"
]
}
}
Responses

- application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"test Execl ssue": {
"id": "10000",
"key": "DEMO 123",
"self": "http://ww.exanple.comjiralrest/api/2/issue/ 10000"
}
}

- application/json : No execution results where provided.
: application/json : The Xray license is not valid.

: application/json : An internal error occurred when importing execution results.

Behave JSON results

After executing Behave features, you must import the outputted JSON execution results to Jira using the following endpoint:

Import the execution results created with the Behave JSON output formatter.

Request

Example

Example Input

"status": "failed",
"elenents": [



"nane": "Test autonmtic",

"keyword": "Scenario",
"tags": [
"XTP-11"
1.
"steps": [
{
"nane": "l have entered 20 into the cal culator",
"keyword": "G ven",
"step_type": "given",
"result": {
"status": "failed",
"duration": 3.0994415283203125e-03
I
"match": {
"l ocation": "steps/tutorial.py:13",
"argunents": []
}
"location": "1 (8).feature: 7"
I
{
"nane": "l have entered 30 into the cal culator",

"keyword": "And",
"step_type": "given",

"result": {
"status": "failed",
"duration": 2.5033950805664062e-03
H
"match": {
"l ocation": "steps/tutorial.py:17",
"argunents": []
H
"location": "1 (8).feature: 8"
o
{
"nane": "l press add",
"keyword": "When",
"step_type": "when",
"result": {
"status": "failed",
"duration": 2.288818359375e-03
o
"match": {
"l ocation": "steps/tutorial.py:21",
"argunents": []
b
"location": "1 (8).feature:9"
H
{
"nanme": "the result should be 50 on the screen",
"keyword": "Then",
"step_type": "then",
"result": {
"status": "failed",
"duration": 2.2172927856445312e-03
H
"match": {
"l ocation": "steps/tutorial.py:25",
"argunents": []
H
"location": "1 (8).feature: 10"
}
I,
"location": "1 (8).feature: 6",
"type": "scenario"
"nane": "Test -- @.1 Consuner Electronics",
"keyword": "Scenario Qutline",

"tags": [



" XTP-11"

1.
"steps": [
{
"nane": "l put \"iPhone\" in a blender"”,
"keyword": "G ven",
"step_type": "given",
"result": {
"status": "failed",
"duration": 5.1021575927734375e-03
b
"match": {
"l ocation": "steps/tutorial.py:29",
"argunents": [
{
"nane": "thing",
"val ue": "iPhone"
}
]
b
"location": "1 (8).feature: 16"
o
{
"nane": "I switch the blender on",
"keyword": "When",
"step_type": "when",
"result": {
"status": "failed",
"duration": 3.4809112548828125e-03
o
"match": {
"l ocation": "steps/tutorial.py:34",
"argunments": []
},
"location": "1 (8).feature: 17"
H
{
"name": "it should transforminto \"toxic waste\"",
"keyword": "Then",
"step_type": "then",
"result": {
"status": "failed",
"duration": 2.6941299438476562e-03
H
"match": {
"l ocation": "steps/tutorial.py:38",
"arguments": [
{
"nane": "other_thing",
"val ue": "toxic waste"
}
]
H
"location": "1 (8).feature: 18"
}
I,
"location": "1 (8).feature: 27",
"type": "scenario"
o
{
"nane": "Test -- @.2 Consuner Electronics",
"keyword": "Scenario Qutline",
"tags": [
" XTP- 11"
1.
"steps": [
{
"nane": "I put \"Galaxy Nexus\" in a blender",
"keyword": "G ven",

"step_type": "given",
"result": {



"status": "failed",
"duration": 3.814697265625e-03

b
"match": {
"l ocation": "steps/tutorial.py:29",
"argunents": [
{
"nane": "thing",
"val ue": "Gal axy Nexus"
}
]
b
"l ocation": "1 (8).feature: 16"
H
{
"nane": "I switch the blender on",
"keyword": "When",
"step_type": "when",
"result": {
"status": "failed",
"duration": 2.5033950805664062e-03
o
"match": {
"l ocation": "steps/tutorial.py:34",
"argunments": []
},
"location": "1 (8).feature: 17"
H
{
"nanme": "it should transforminto \"toxic waste\"",
"keyword": "Then",
"step_type": "then",
"result": {
"status": "failed",
“duration": 2.8133392333984375e-03
H
"match": {
"l ocation": "steps/tutorial.py:38",
"argunments": [
{
"nane": "other_thing",
"value": "toxic waste"
}
]
H
"location": "1 (8).feature: 18"
}
I,
"location": "1 (8).feature: 28",
"type": "scenario"
}
1.
"nanme": "",
"keyword": "Feature",
"tags": [
" XTP- 2"
1.
"location": "1 (8).feature:2"

@ Example Request

curl -H "Content-Type: application/json" -X POST -u admin:admin --data @cucumber_output.json http://yourserver/rest/raven/1.0/import
/execution/behave

Responses



. application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"t est Execl ssue": {
"id": "10000",
“key": "DEMO 123",
"self": "http://ww.exanple.conljiralrest/api/2/issue/ 10000"
}
}

- application/json : No execution results where provided.
: application/json : The Xray license is not valid.

: application/json : An internal error occurred when importing execution results.

Behave JSON results Multipart
Xray provides another endpoint if you want to create new Test Executions and have control over newly-created Test Execution fields. It allows you to send

two JSON files, the normal Behave's result JSON and a JSON similar to the one Jira uses to create new issues. For more information about that second
format, check the Jira documentation here.

Import the execution results created with the Behave JSON output formatter.
Note: Currently, if you specify the Test Plan custom field, the Tests of the Test Execution will not be added automatically to the Test Plan.
Request

Example

Result JSON

{
"status": "failed",
"elenents": [
{
"nane": "Test autonmmtic",
"keyword": "Scenario",
"tags": [
"XTP- 11"
1,
"steps": [
{
"nane": "l have entered 20 into the cal culator",
"keyword": "G ven",
"step_type": "given",
"result": {
"status": "failed",
"duration": 3.0994415283203125e-03
},
"match": {
"l ocation": "steps/tutorial.py:13",
"argunents": []
}
"location": "1 (8).feature: 7"
}
{
"nane": "l have entered 30 into the calculator",

"keyword": "And",
"step_type": "given",
"result": {


https://docs.atlassian.com/software/jira/docs/api/REST/7.4.1/#api/2/issue-createIssue

"status": "failed",
"duration": 2.5033950805664062e-03
b
"match": {
"l ocation": "steps/tutorial.py:17",
"argunments": []
b
"location": "1 (8).feature:8"
H
{
"nanme": "l press add",
"keyword": "Wen",
"step_type": "when",
"result": {
"status": "failed",
"duration": 2.288818359375e-03
H
"match": {
"location": "steps/tutorial.py:21",
"argunments": []
},
"location": "1 (8).feature:9"
b
{
"nane": "the result should be 50 on the screen",
"keyword": "Then",
"step_type": "then",
"result": {
"status": "failed",
"duration": 2.2172927856445312e-03
b
"match": {
"location": "steps/tutorial.py:25",
"argunents": []
o
"l ocation": "1 (8).feature: 10"
}
I
"l ocation": "1 (8).feature: 6",
"type": "scenario"
H
{
"nane": "Test -- @.1 Consuner Electronics",
"keyword": "Scenario Qutline",
"tags": [
" XTP- 11"
I
"steps": [
{
"nane": "l put \"iPhone\" in a blender"”,
"keyword": "G ven",
"step_type": "given",
"result": {
"status": "failed",
"duration": 5.1021575927734375e-03
}
"match": {
"l ocation": "steps/tutorial.py:29",
"argunents": [
{
"nane": "thing",
"val ue": "iPhone"
}
]
H
"location": "1 (8).feature: 16"
o
{
"nane": "I switch the blender on",
"keyword": "When",
"step_type": "when",



"result": {
"status": "failed",
"duration": 3.4809112548828125e-03

b
"match": {
"l ocation": "steps/tutorial.py: 34",
"argunents": []
o
"location": "1 (8).feature: 17"
b
{
"nane": "it should transforminto \"toxic waste\"",
"keyword": "Then",
"step_type": "then",
"result": {
"status": "failed",
“duration": 2.6941299438476562e- 03
b
"match": {
"l ocation": "steps/tutorial.py:38",
"argunents": [
{
"nane": "other_thing",
"value": "toxic waste"
}
]
o
"location": "1 (8).feature: 18"
}
1.
"location": "1 (8).feature: 27",
"type": "scenario"
H
{
"nane": "Test -- @.2 Consuner Electronics",
"keyword": "Scenario Qutline",
"tags": [
" XTP- 11"
I
"steps": [
{
"nane": "l put \"Galaxy Nexus\" in a bl ender",
"keyword": "G ven",
"step_type": "given",
"result": {
"status": "failed",
“duration": 3.814697265625e-03
}
"match": {
"l ocation": "steps/tutorial.py:29",
"argunents": [
{
"name": "thing",
"val ue": "Gal axy Nexus"
}
]
H
"location": "1 (8).feature: 16"
o
{
"nane": "I switch the blender on",

"keyword": "When",
"step_type": "when",

"result": {

"status": "failed",

“duration": 2.5033950805664062e- 03
o
"match": {

"l ocation": "steps/tutorial.py:34",
"argunents": []



"location": "1 (8).feature: 17"

b
{
"nane": "it should transforminto \"toxic waste\"",
"keyword": "Then",
"step_type": "then",
"result": {
"status": "failed",
"duration": 2.8133392333984375e-03
b
"match": {
"l ocation": "steps/tutorial.py:38",
"argunents": [
{
"nane": "other_thing",
"val ue": "toxic waste"
}
]
b
"location": "1 (8).feature: 18"
}
I
"location": "1 (8).feature: 28",
"type": "scenario"
}
I,
"nane": "",
"keyword": "Feature",
"tags": [
" XTP- 2"
I
"l ocation": "1 (8).feature:2"
}
]
Info JSON
{
"fields": {
"project": {
"id": "10402"
o
"summary": "Test Execution for cucunber Execution",
"issuetype": {
"id": "10007"
},
"conponents" : [
{
"nane":"Interface"
o
{
"nane": " Core"
}
I,
"custonfiel d_10032" : [
" TES- 38"
]
}
}

@ Example Request

curl -u admin:admin -F info=@createTest.json -F result=@results.json http://yourserver/rest/raven/1.0/import/execution/behave/multipart

Responses



. application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"t est Execl ssue":
"id": "10000",
"key": "DEMO 123",
"self": "http://ww.exanple.conljiralrest/api/2/issue/ 10000"
}
}

- application/json : No execution results where provided.

: application/json : The Xray license is not valid.

: application/json : An internal error occurred when importing execution results.

JUnit XML results

After executing JUnit tests, you must import the outputted XML execution results to Jira using the following endpoint:

Import the execution results created with the JUnit XML output formatter. For more information, please check the documentation about JUnit integration.

Request

QUERY PARAMETERS

parameter

proj ect Key

testExecKey
testPlanKey
testEnviron
ments
revision

fixVersion

type

String

String

String

String

String

String

multipart/form-data:

description

- key of the project where the test execution (if the testExecKey parameter wasn't provided) and the tests (if they
aren't created yet) are going to be created.

- key of the Test Execution.

- key of the Test Plan; if you specify the Test Plan, the Tests will be added automatically to the Test Plan if they're not
part of it.

- a string containing a list of test environments separated by ";"

- source code and documentation version used in the test execution.

- the Fix Version associated with the test execution (it supports only one value).

"file" : a MultipartFormParam containing a XML file to import.

Example


http://confluence.xpand-addons.com/display/XRAY21/Integration+with+JUnit+based+test+runners

JUnit Report XML

<?xm version="1.0" encodi ng="UTF-8" ?>
<testsuite tests="15" failures="0" nanme="ut.com xpandit.raven. service.inpl.|ssueDataSet Test" tinme="0.163"
errors="0" ski pped="0">

<properties>

</ properties>
<testcase classnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dLi m t Over f | owOpti on_r et ur nsExpect edSubset” time="0.114"/>
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hNul | Opti onsAndVal i dl ssue_t hrowsl | | egal Ar gunent Excepti on" ti me="0.002"/>
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
t est Appl yOpti ons_wi t hVal i dl ssueAndVal i dEnpt yOpti ons_returnsAl | | ssues" tine="0.002"/>
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" nanme="
test Appl yOptions_wi t hVal i dl ssueAndVal i dd obal Sear chOpti ons_r et ur nsExpect edTests" time="0.016"/>
<testcase classnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndl nval i dCol utmSear chOpti on_returnsAl | Tests" tinme="0.007"/>
<t estcase cl assnane="ut.com xpandit.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dLi mi t Under Opt i on_r et ur nsExpect edSubset" ti me="0.001"/>
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOptions_wi t hVal i dl ssueAndVal i dd obal Sear chOpti onThat Machesl ssueKey_r et ur nsExpect edTest W t hivat chedKey"
time="0.006"/>
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dSummar yCol urmAscSort Opt i on_r et ur nsExpect edl ssuesl nAscOrder ™" time="
0. 006"/ >
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dSummar yCol urmbDescSort Opt i on_r et ur nsExpect edl ssuesl nDescOrder” time="
0. 002"/ >
<t est case cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dd@ obal Sear chOpti onThat Mat chesAl | El enents_returnsAl | Tests" tine="0.001"
/>
<testcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dCol utmSear chOpt i onThat Mat chesOneEl enent _r et urnsOneTest" ti ne="0.002"/>
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dCol uimSear chOpt i onThat Mat chesNol ssue_r et urnsEnpt yLi st" ti ne="0.001"/>
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" name="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i d@ obal Sear chQpt i onThat MachesNol ssue_r et urnsenptyList" ti nme="0.001"/>
<t est case cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" nanme="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dKeyCol utmbDescSort Opti on_r et ur nsExpect edl ssuesl nDescOrder” tine="0.001"
/>
<t estcase cl assnane="ut.com xpandi t.raven. service.inpl.|ssueDataSet Test" nanme="
test Appl yOpti ons_wi t hVal i dl ssueAndVal i dKeyCol utmAscSort Opti on_r et ur nsExpect edl ssuesl nAscOrder” tine="0.001"/>
</testsuite>

@ Example Request

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/junit?
projectkKey=XTP

curl -H "Content-Type: multipart/form-data" -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/junit?
testExecKey=XNP-23

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/junit?
projectKey=XTP&testExecKey=XNP-23

curl -H "Content-Type: multipart/form-data" -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/junit?
projectkKey=XTP&testPlanKey=XTP-12&revision=v2.1.0

Responses

. application/json : Successful. The results where successfully imported to Jira.



Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiral/rest/api/2/issue/ 10200"
}
}

- application/json : Returns the error.
. application/json : The Xray license is not valid.

. application/json : An internal error occurred when importing execution results.

JUnit XML results Multipart

Xray provides another endpoint if you want to create new Test Executions and have control over newly-created Test Execution and Test fields. It allows
you to send one XML file (the JUnit report) and two JSON files similar to the one Jira uses to create new issues. For more information about that JSON
format, check the Jira documentation here.

As of the creation of Test issues, some field values in the JSON file will follow some rules:

Issue Type: Overridden by the Test issue type;

Summary: Overridden by the internally generated summary;

Parent: This field is ignored;

Project: If the there is not a Test issue with the same Generic Test Definition, then it will be created in the provided project;
Generic Test Definition: Not allowed to provide a value for this field.

Import the execution results created with the JUnit XML output formatter. For more information, please check the documentation about JUnit integration.
Note: Currently, if you specify the Test Plan custom field, the Tests of the Test Execution will not be added automatically to the Test Plan.
Request

Example


https://docs.atlassian.com/software/jira/docs/api/REST/7.4.1/#api/2/issue-createIssue
http://confluence.xpand-addons.com/display/XRAY21/Integration+with+JUnit+based+test+runners

JUnit Report XML

<?xm version="1.0" encodi ng="UTF-8" ?>
<testsuite tests="15" failures="0" nanme="ut.com xpandit.raven. service.inpl.|ssueDataSet Test" tinme="0.163"

errors="0" ski pped="0">
<properties>

</ properties>

<testcase cl assnane="ut.com xpandit.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i

<t estcase cl assname="ut.com xpandi t.
test Appl yOpti ons_wi t hNul | Opt i onsAndVal

<t estcase cl assnane="ut.com xpandi t.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i

<t estcase cl assnane="ut.com xpandit.
test Appl yOptions_wi t hVal i dl ssueAndVal i

<testcase cl assnane="ut.com xpandit.

raven. servi ce. i npl .| ssueDat aSet Test" name="

dLi m t Overfl owOpti on_returnsExpect edSubset” tine="0.114"/>
raven. service.inpl.|ssueDataSet Test" name="

idl ssue_throwsl| | egal Argunent Excepti on" tine="0.002"/>
raven. service.inpl.|ssueDat aSet Test" nanme="

dEnpt yOpti ons_returnsAl |l | ssues" tinme="0.002"/>

raven. service.inpl.|ssueDat aSet Test" nanme="

dd obal SearchQOpti ons_ret urnsExpect edTests" tine="0.016"/>
raven. servi ce. i npl .| ssueDat aSet Test" name="

test Appl yOpti ons_wi t hVal i dl ssueAndl nval i dCol utmSear chOpti on_returnsAl | Tests" tinme="0.007"/>

<testcase cl assname="ut.com xpandit.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i

<t estcase cl assnane="ut.com xpandi t.
test Appl yOptions_wi t hVal i dl ssueAndVal i
time="0.006"/>

<t estcase cl assnane="ut.com xpandi t.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i
0. 006"/ >

<testcase cl assnane="ut.com xpandit.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i
0. 002"/ >

<testcase cl assnane="ut.com xpandit.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i
/>

<testcase cl assnane="ut.com xpandit.
test Appl yOptions_wi t hVal i dl ssueAndVal i

<testcase cl assnane="ut.com xpandit.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i

<t estcase cl assnane="ut.com xpandi t.
test Appl yOptions_wi t hVal i dl ssueAndVal i

<t est case cl assnane="ut.com xpandit.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i
/>

<t estcase cl assnane="ut.com xpandi t.
test Appl yOpti ons_wi t hVal i dl ssueAndVal i
</testsuite>

raven. service.inpl.|ssueDataSet Test" name="

dLi mi t Under Opti on_r et ur nsExpect edSubset" ti nme="0.001"/>

raven. service.inpl.|ssueDat aSet Test" name="

dd obal Sear chOpti onThat Machesl ssueKey_r et ur nsExpect edTest W t hMat chedKey"

raven. service.inpl.|ssueDat aSet Test" name="
dSummar yCol utmAscSor t Opt i on_r et ur nsExpect edl ssuesl nAscOrder” time="

raven. service.inpl.|ssueDat aSet Test" name="
dSummar yCol utmDescSor t Opt i on_r et ur nsExpect edl ssuesl nDescOrder” ti ne="

raven. servi ce. i npl .| ssueDat aSet Test" name="
dd obal Sear chOpti onThat Mat chesAl | El ements_returnsAl | Tests" tinme="0.001"

raven. servi ce. i npl .| ssueDat aSet Test" name="

dCol umSear chOpt i onThat Mat chesOneEl enent _r et ur nsOneTest" ti me="0. 002"/ >
raven. service.inpl.|ssueDat aSet Test" name="

dCol umSear chOpt i onThat Mat chesNol ssue_r et ur nsEnptyLi st" tinme="0.001"/>
raven. service.inpl.|ssueDataSet Test" name="

dd obal Sear chOpt i onThat MachesNol ssue_r et ur nsenptyLi st" tine="0.001"/>
raven. service.inpl.|ssueDat aSet Test" nanme="

dKeyCol ummDescSor t Opti on_r et ur nsExpect edl ssuesl nDescOrder™ tinme="0.001"

raven. service.inpl.|ssueDat aSet Test" name="
dKeyCol ummAscSort Opti on_r et ur nsExpect edl ssuesl nAscOrder" time="0.001"/>



Test Exec Info JSON

{
"fields": {
"project": {
"id": "10402"
b
"summary": "Test Execution for junit Execution",
"issuetype": {
"id": "10007"
b
"conponents" : [
{
"nane":"Interface"
b
{
"nanme": " Core"
}
]
}
}
Test Info JSON
{
"fields": {
"description": "Automated Test",
"priority" : {
"id": "10"
},
"l abel s": [
"Testing",
" Aut omat i on"
]
}
}

@ Example Request

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" -F "info=@testExec.json" -F "testinfo=@test.json" http://your
server/rest/raven/1.0/import/execution/junit/multipart

Responses

: application/json : Successful. The results where successfully imported to Jira. The following Test issues were also created with
success.



Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiral/rest/api/2/issue/ 10200"
3
"testlssues": {
"success": [
{
"self": "http://local host: 8080/ rest/api/2/issue/10201",
"id": "10201",
"key": "XNP-25"
}
{
"self": "http://]ocal host: 8080/ rest/api/2/issuel/ 10202",
"id": "10202",
"key": "XNP-26"
}
]
}
}

: application/json: Some results where successfully imported to Jira. But the following Test issues failed to be created due to the
following reasons.

Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiralrest/api/2/issue/10200"
b
"testlssues": {
"error": [
{
"nmessages": [
"Field 'custonfield 10005 cannot be set. It is not on the appropriate screen, or
unknown. "
1.
"testDefinition": "ut.com xpandit.raven.service.inpl.|ssueDataSet Test.
test Appl yOpti ons_wi t hNul | Opti onsAndVal i dl ssue_t hrowsl | | egal Argunent Excepti on"
}
]
}
}

- application/json : Returns the error.
. application/json : The Xray license is not valid.

: application/json : An internal error occurred when importing execution results.

TestNG XML results

After executing TestNG tests, you must import the outputted XML execution results to Jira using the following endpoint:

Import the execution results created with the TestNG XML output formatter. For more information please check the documentation about TestNG
integration.


https://docs.getxray.app/display/XRAY400/Taking+advantage+of+TestNG+XML+reports
https://docs.getxray.app/display/XRAY400/Taking+advantage+of+TestNG+XML+reports

Request

QUERY PARAMETERS

parameter type description

proj ect Key | String | - key of the project where the Test Execution (if the testExecKey parameter wasn't provided) and the tests (if they
aren't created yet) are going to be created.

testExecKey @ String | - key of the Test Execution.

testPlanKey @ String | - key of the Test Plan; if you specify the Test Plan, the Tests will be added automatically to the Test Plan if they're not

part of it.
testEnviron String | - a string containing a list of test environments separated by ;"
ments
revision String | - source code and documentation version used in the test execution.
fixVersion String | - the Fix Version associated with the test execution (it supports only one value).

multipart/form-data:
"file" : a MultipartFormParam containing a XML file to import.

Example

TestNG XML Report

<?xm version="1.0" encodi ng="UTF-8"?>
<testng-resul ts skipped="0" failed="2" ignored="0" total ="8" passed="6">
<reporter-out put >
</ reporter-out put>
<suite name="TestAl|l" duration-ns="33" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53: 002" >
<groups>
</ groups>
<test nane="cal cul ator" duration-ns="33" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53:
00Z" >
<cl ass name="com xpand. j ava. Cal cTest">
<t est - net hod status="PASS" signature="setUp()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]" nanme="
setUp" is-config="true" duration-nms="9" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<reporter-out put >
</ reporter-output>
</test-nethod> <!-- setUp -->
<t est - net hod status="PASS" signature="CanAddNunbers()[pri:0, instance:com xpand.java.
Cal cTest @6d4b5c] " name="CanAddNunbers" duration-ns="2" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-
03-06T11: 53: 00Z" >
<reporter-out put>
</ reporter-out put>
<attributes>
<attribute name="test">
<![CDATA[]]>
</attribute> <!-- test -->
<attribute name="requirement">
<! [ CDATA[ CALC- 1235]] >
</attribute> <!-- requirenment -->
<attribute name="I abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- labels -->
</attributes>
</test-nethod> <!-- CanAddNunbers -->
<t est-net hod status="PASS" si gnat ure="CanAddNunber sFronG venData(int, int, int)[pri:0, instance:com
xpand. j ava. Cal cTest @6d4b5c]" nanme="CanAddNunber sFronmG venDat a" durati on-ns="0" started-at="2018-03-06T11: 53:
00Z" dat a- provi der ="Val i dDat aProvi der" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<par ans>
<param i ndex="0">
<val ue>
<! [ CDATA[ 1] ] >
</val ue>
</ par an»
<param i ndex="1">



<val ue>
<! [ CDATA[ 2]] >
</ val ue>
</ par an»
<param i ndex="2">
<val ue>
<! [ CDATA[ 3]] >
</ val ue>
</ par an®>
</ par ans>
<r eporter-out put >
</ reporter-output>
<attributes>
<attribute nanme="test">
<I[CDATA[]]>
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235] ] >
</attribute> <!-- requirenment -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- |abels -->
</attributes>
</test-nethod> <!-- CanAddNunber sFronG venData -->
<test-nethod status="FAIL" signature="CanAddNunber sFron(G venData(int, int, int)[pri:0, instance:com
xpand. j ava. Cal cTest @6d4b5c] " nanme="CanAddNunber sFronfG venDat a" duration-ns="1" started-at="2018-03-06T11: 53
00Z" dat a- provi der ="Val i dDat aProvi der" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<par ans>
<param i ndex="0">
<val ue>
<! [ CDATA[ 2] ] >
</ val ue>
</ par an®>
<param i ndex="1">
<val ue>
<! [ CDATA[ 3] ] >
</ val ue>
</ par an>
<param i ndex="2">
<val ue>
<! [ CDATA[ 4]] >
</ val ue>
</ par an»
</ par ans>
<exception class="java.l ang. AssertionError">
<message>
<! [ CDATA[ expected [4] but found [5]]]>
</ message>
<full-stacktrace>
<! [ CDATA[ j ava. |l ang. AssertionError: expected [4] but found [5]
at org.testng. Assert.fail (Assert.java: 93)
at org.testng. Assert.fail Not Equal s(Assert.java: 512)
at org.testng. Assert. assert Equal sl npl (Assert.java: 134)
at org.testng. Assert. assertEqual s(Assert.java: 115)
at org.testng. Assert. assert Equal s(Assert.java: 388)
at org.testng. Assert. assert Equal s(Assert.java: 398)
at com xpand. j ava. Cal cTest. CanAddNunber sFronG venDat a( Cal cTest . j ava: 40)
at sun.reflect.NativeMet hodAccessor| npl.invokeO(Native Mt hod)
at sun.refl ect. NativeMet hodAccessor |l npl.invoke(NativeMet hodAccessorlnpl.java: 62)
at sun.refl ect. Del egati ngMet hodAccessor | npl . i nvoke(Del egati ngMet hodAccessor | npl . j ava: 43)
at java.lang.reflect.Mthod.invoke(Method.java: 498)
at org.testng.internal.Methodl nvocati onHel per.i nvokeMet hod( Met hodl nvocat i onHel per.java: 108)
at org.testng.internal.lnvoker.invokeMethod(lnvoker.java: 661)
at org.testng.internal.lnvoker.invokeTest Met hod(Il nvoker.java: 869)
at org.testng.internal.lnvoker.invokeTest Met hods(Il nvoker.java: 1193)
at org.testng.internal. Test Met hodWr ker . i nvokeTest Met hods( Test Met hodWor ker . j ava: 126)
at org.testng.internal. Test Met hodWor ker. run( Test Met hodWor ker . j ava: 109)
at org.testng. Test Runner. privat eRun( Test Runner. j ava: 744)
at org.testng. Test Runner.run(Test Runner.j ava: 602)
at org.testng. SuiteRunner.runTest (SuiteRunner.java: 380)
at org.testng. SuiteRunner.runSequential | y(SuiteRunner.java: 375)



at org.testng. SuiteRunner. privat eRun( Sui t eRunner. j ava: 340)

at org.testng. SuiteRunner.run(SuiteRunner.java: 289)

at org.testng. Sui teRunner Wor ker . runSui t e( Sui t eRunner Wor ker . j ava: 52)

at org.testng. SuiteRunnerWrker. run(SuiteRunnerWorker. java: 86)

at org.testng. Test NG runSui t esSequenti al | y(Test NG j ava: 1301)

at org.testng. Test NG runSui tesLocal | y( Test NG j ava: 1226)

at org.testng. Test NG runSui tes(Test NG j ava: 1144)

at org.testng. Test NG run(Test NG j ava: 1115)

at org.apache. maven. surefire.testng. Test NGExecut or. run( Test NGExecut or . j ava: 283)

at org.apache. maven. surefire. testng. Test NGXnl Test Sui t e. execut e( Test NGXnml Test Sui t e. j ava: 75)

at org.apache. maven. surefire.testng. Test NGProvi der. i nvoke( Test NGProvi der . j ava: 120)

at org.apache. maven. surefire. boot er. For kedBoot er. i nvokePr ovi der | nSaned assLoader ( For kedBoot er . j ava
373)

at org.apache. maven. surefire. boot er. For kedBoot er. runSui t esl nProcess( For kedBoot er . j ava: 334)

at org.apache. maven. surefire. boot er. For kedBoot er . execut e( For kedBoot er . j ava: 119)

at org.apache. maven. surefire. boot er. For kedBoot er. mai n( For kedBoot er . j ava: 407)

</full-stacktrace>
</ exception> <!-- java.lang. AssertionError -->
<reporter-out put>
</ reporter-out put>
<attributes>
<attribute name="test">
<I[CDATA[]]>
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235] ] >
</attribute> <!-- requirement -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- |abels -->
</attributes>
</test-nethod> <!-- CanAddNunber sFronG venData -->
<t est-net hod status="PASS" signature="CanAddNunber sFronG venData(int, int, int)[pri:0, instance:com
xpand. j ava. Cal cTest @6d4b5c] " nanme="CanAddNunber sFronG venDat a" duration-nms="0" started-at="2018-03-06T11: 53
00Z" dat a- provi der="Val i dDat aProvi der" fini shed-at="2018-03-06T11: 53: 00Z" >
<par ans>
<param i ndex="0">
<val ue>
<![ CDATA[ -1]] >
</ val ue>
</ par an>
<param i ndex="1">
<val ue>
<! [ CDATA[ 1]] >
</ val ue>
</ par an»
<param i ndex="2">
<val ue>
<! [ CDATA[ 0] ] >
</ val ue>
</ par an®>
</ par ans>
<r eporter-out put >
</ reporter-output>
<attributes>
<attribute name="test">
<I[CDATA[]]>
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235] ] >
</attribute> <!-- requirenment -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- |abels -->
</attributes>
</test-nethod> <!-- CanAddNunber sFronG venData -->
<test-nethod status="FAIL" signature="CanDoStuff()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]"
nane="CanDoSt uf f" duration-ns="0" started-at="2018-03-06T11: 53: 00Z" fi ni shed-at="2018-03-06T11: 53: 002" >
<exception class="java.lang. AssertionError">
<message>



<I[CDATA[ nul I1]]>
</ message>
<full-stacktrace>
<! [ CDATA[ j ava. | ang. AssertionError: null
at org.testng. Assert.fail (Assert.java: 93)
at org.testng. Assert.assertNot Equal s(Assert.java: 897)
at org.testng. Assert. assert Not Equal s(Assert.java: 902)
at com xpand. j ava. Cal cTest. CanDoSt uf f (Cal cTest . j ava: 86)
at sun.refl ect. NativeMet hodAccessor |l npl.invokeO(Native Method)
at sun.reflect.NativeMet hodAccessor | npl.invoke(NativeMet hodAccessorl npl.java: 62)
at sun.reflect. Del egati ngMet hodAccessor | npl . i nvoke( Del egati ngMet hodAccessor | npl . j ava: 43)
at java.lang.reflect.Mthod.invoke(Method.java: 498)
at org.testng.internal.Methodl nvocati onHel per.i nvokeMet hod( Met hodl nvocat i onHel per . j ava: 108)
at org.testng.internal.lnvoker.invokeMethod(lnvoker.java: 661)
at org.testng.internal.lnvoker.invokeTest Met hod(Il nvoker.java: 869)
at org.testng.internal.|nvoker.invokeTest Met hods(Il nvoker.java: 1193)
at org.testng.internal.Test Met hodWrker. i nvokeTest Met hods( Test Met hodWor ker . j ava: 126)
at org.testng.internal. Test Met hodWor ker. run( Test Met hodWor ker . j ava: 109)
at org.testng. Test Runner. privat eRun( Test Runner . j ava: 744)
at org.testng. Test Runner.run(Test Runner.j ava: 602)
at org.testng. SuiteRunner.runTest (SuiteRunner.java: 380)
at org.testng. SuiteRunner.runSequential | y(SuiteRunner.java: 375)
at org.testng. SuiteRunner. privat eRun(Sui t eRunner.java: 340)
at org.testng. SuiteRunner.run(SuiteRunner.java: 289)
at org.testng. SuiteRunner Wor ker . runSui t e( Sui t eRunner Wor ker . j ava: 52)
at org.testng. SuiteRunnerWrker. run(SuiteRunnerWorker. java: 86)
at org.testng. Test NG runSui t esSequenti al | y(Test NG j ava: 1301)
at org.testng. Test NG runSui t esLocal | y(Test NG j ava: 1226)
at org.testng. Test NG runSui tes(Test NG j ava: 1144)
at org.testng. Test NG run(Test NG j ava: 1115)
at org.apache. maven. surefire.testng. Test NGExecut or. run( Test NGExecut or . j ava: 283)
at org.apache. maven. surefire. testng. Test NGXnl Test Sui t e. execut e( Test NGXnml Test Sui t e. j ava: 75)
at org.apache. maven. surefire.testng. Test NGProvi der. i nvoke( Test NGProvi der. j ava: 120)
at org.apache. maven. surefire. boot er. For kedBoot er. i nvokeProvi der | nSaned assLoader ( For kedBoot er . j ava:
373)
at org.apache. maven. surefire. boot er. For kedBoot er. runSui t esl nProcess( For kedBoot er . j ava: 334)
at org.apache. maven. surefire. boot er. For kedBoot er . execut e( For kedBoot er . j ava: 119)
at org.apache. maven. surefire. boot er. For kedBoot er. mai n( For kedBoot er . j ava: 407)

</full-stacktrace>
</ exception> <!-- java.lang. AssertionError -->
<reporter-out put>
</ reporter-out put >
</test-nethod> <!-- CanDoStuff -->
<t est-nethod status="PASS" signature="CanDivide()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]"
name="CanDi vi de" duration-nms="0" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<reporter-out put>
</reporter-output>
<attributes>
<attribute name="test">
<![ CDATA[]] >
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235]] >
</attribute> <!-- requirenment -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >

</attribute> <I-- |abels -->
</attributes>
</test-nethod> <!-- CanDivide -->

<t est-nethod status="PASS" signature="CanMiltiplyX()[pri:0, instance:com xpand.java.
Cal cTest @6d4b5c] " name="CanMul ti pl yX"' duration-ms="0" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-
06T11: 53: 002" >
<reporter-out put>
</ reporter-out put>
<attributes>
<attribute name="test">
<I[CDATA[]] >
</attribute> <!-- test -->
<attribute name="requirement">
<! [ CDATA[ CALC- 1235] ] >



</attribute> <!-- requirement -->
<attribute name="| abel s">
<! [ CDATA[ core]] >
</attribute> <!-- |abels -->
</attributes>
</test-nmethod> <!-- CanMultiplyX -->
<t est - net hod status="PASS" signature="CanSubtract()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]"
name="CanSubtract" duration-nms="0" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<r eporter-out put >
</reporter-output>
<attributes>
<attribute name="test">
<! [ CDATA[]] >
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235]] >
</attribute> <!-- requirenment -->
<attribute name="| abel s">
<! [ CDATA[ core]] >

</attribute> <I-- |abels -->
</attributes>
</test-nethod> <!-- CanSubtract -->

<t est - net hod st atus="PASS" signature="tearDown()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]"
name="t ear Down" is-config="true" duration-nms="0" started-at="2018-03-06T11:53: 002" fini shed-at="2018-03-06T11:
53: 002" >
<r eporter-out put >
</ reporter-out put >

</test-nethod> <!-- tearDown -->
</class> <!-- com xpand. java. Cal cTest -->
</test> <!-- calculator -->
</suite> <!-- TestAll -->

</testng-resul ts>

@ Example Request

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/testng?
projectKey=XTP

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/testng?
testExecKey=XNP-23

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/testng?
projectKey=XTP&testExecKey=XNP-23

curl -H "Content-Type: multipart/form-data” -u admin:admin -F “file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/testng?
projectKey=XTP&testPlanKey=XTP-12&fixVersion=v2.1.0

Responses

. application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiralrest/api/2/issue/ 10200"
}
}

- application/json : Returns the error.
: application/json : The Xray license is not valid.

- application/json : An internal error occurred when importing execution results.



TestNG XML results Multipart

Xray provides another endpoint if you want to create new Test Executions and have control over newly-created Test Execution and Test fields. It allows
you to send one XML file (the TestNG report) and two JSON files similar to the one Jira uses to create new issues. For more information about that JSON
format, check the Jira documentation here.

As of the creation of Test issues, some field values in the JSON file will follow some rules:

Issue Type: Overridden by the Test issue type;

Summary: Overridden by the internally generated summary;

Parent: This field is ignored;

Project: If the there is not a Test issue with the same Generic Test Definition, then it will be created in the provided project;
Generic Test Definition: Not allowed to provide a value for this field.

Import the execution results created with the NUnit XML output formatter. For more information please check the documentation about TestNG
integration.

Note: Currently, if you specify the Test Plan custom field, the Tests of the Test Execution will not be added automatically to the Test Plan.
Request

Example

TestNG XML Report

<?xm version="1.0" encodi ng="UTF-8"?>
<testng-resul ts skipped="0" failed="2" ignored="0" total ="8" passed="6">
<reporter-out put>
</reporter-output>
<suite name="TestAll" duration-ns="33" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53: 002" >
<groups>
</ groups>
<test nanme="cal cul ator" duration-ns="33" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53:
00Z">
<cl ass nane="com xpand. j ava. Cal cTest ">
<t est - net hod status="PASS" signature="setUp()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]" nane=
setUp" is-config="true" duration-nms="9" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<r eporter-out put >
</ reporter-output>
</test-nethod> <!-- setUp -->
<test-nethod status="PASS" signature="CanAddNunbers()[pri:0, instance:com xpand.java.
Cal cTest @6d4b5c] " name="CanAddNunbers" duration-ns="2" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-
03-06T11: 53: 002" >
<reporter-out put >
</reporter-output>
<attributes>
<attribute name="test">
<I[ CDATA[]] >
</attribute> <!-- test -->
<attribute name="requirement">
<! [ CDATA[ CALC- 1235] ] >
</attribute> <!-- requirenent -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- |abels -->
</attributes>
</test-nethod> <!-- CanAddNunbers -->
<t est-net hod status="PASS" si gnat ure="CanAddNunber sFronG venData(int, int, int)[pri:0, instance:com
xpand. j ava. Cal cTest @6d4b5c] " nane="CanAddNunber sFronG venDat a" duration-ns="0" started-at="2018-03-06T11: 53:
00Z" dat a- provi der ="Val i dDat aProvi der" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<par ans>
<param i ndex="0">
<val ue>
<! [ CDATA[ 1] ] >
</ val ue>
</ par an>
<param i ndex="1">
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<val ue>
<! [ CDATA[ 2]] >
</ val ue>
</ par an»
<param i ndex="2">
<val ue>
<! [ CDATA[ 3]] >
</ val ue>
</ par an®>
</ par ans>
<r eporter-out put >
</ reporter-output>
<attributes>
<attribute nanme="test">
<I[CDATA[]]>
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235] ] >
</attribute> <!-- requirenment -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- |abels -->
</attributes>
</test-nethod> <!-- CanAddNunber sFronG venData -->
<test-nethod status="FAIL" signature="CanAddNunber sFron(G venData(int, int, int)[pri:0, instance:com
xpand. j ava. Cal cTest @6d4b5c] " nanme="CanAddNunber sFronfG venDat a" duration-ns="1" started-at="2018-03-06T11: 53
00Z" dat a- provi der ="Val i dDat aProvi der" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<par ans>
<param i ndex="0">
<val ue>
<! [ CDATA[ 2] ] >
</ val ue>
</ par an®>
<param i ndex="1">
<val ue>
<! [ CDATA[ 3] ] >
</ val ue>
</ par an>
<param i ndex="2">
<val ue>
<! [ CDATA[ 4]] >
</ val ue>
</ par an»
</ par ans>
<exception class="java.l ang. AssertionError">
<message>
<! [ CDATA[ expected [4] but found [5]]]>
</ message>
<full-stacktrace>
<! [ CDATA[ j ava. |l ang. AssertionError: expected [4] but found [5]
at org.testng. Assert.fail (Assert.java: 93)
at org.testng. Assert.fail Not Equal s(Assert.java: 512)
at org.testng. Assert. assert Equal sl npl (Assert.java: 134)
at org.testng. Assert. assertEqual s(Assert.java: 115)
at org.testng. Assert. assert Equal s(Assert.java: 388)
at org.testng. Assert. assert Equal s(Assert.java: 398)
at com xpand. j ava. Cal cTest. CanAddNunber sFronG venDat a( Cal cTest . j ava: 40)
at sun.reflect.NativeMet hodAccessor| npl.invokeO(Native Mt hod)
at sun.refl ect. NativeMet hodAccessor |l npl.invoke(NativeMet hodAccessorlnpl.java: 62)
at sun.refl ect. Del egati ngMet hodAccessor | npl . i nvoke(Del egati ngMet hodAccessor | npl . j ava: 43)
at java.lang.reflect.Mthod.invoke(Method.java: 498)
at org.testng.internal.Methodl nvocati onHel per.i nvokeMet hod( Met hodl nvocat i onHel per.java: 108)
at org.testng.internal.lnvoker.invokeMethod(lnvoker.java: 661)
at org.testng.internal.lnvoker.invokeTest Met hod(Il nvoker.java: 869)
at org.testng.internal.lnvoker.invokeTest Met hods(Il nvoker.java: 1193)
at org.testng.internal. Test Met hodWr ker . i nvokeTest Met hods( Test Met hodWor ker . j ava: 126)
at org.testng.internal. Test Met hodWor ker. run( Test Met hodWor ker . j ava: 109)
at org.testng. Test Runner. privat eRun( Test Runner. j ava: 744)
at org.testng. Test Runner.run(Test Runner.j ava: 602)
at org.testng. SuiteRunner.runTest (SuiteRunner.java: 380)
at org.testng. SuiteRunner.runSequential | y(SuiteRunner.java: 375)



at org.testng. SuiteRunner. privat eRun( Sui t eRunner. j ava: 340)

at org.testng. SuiteRunner.run(SuiteRunner.java: 289)

at org.testng. Sui teRunner Wor ker . runSui t e( Sui t eRunner Wor ker . j ava: 52)

at org.testng. SuiteRunnerWrker. run(SuiteRunnerWorker. java: 86)

at org.testng. Test NG runSui t esSequenti al | y(Test NG j ava: 1301)

at org.testng. Test NG runSui tesLocal | y( Test NG j ava: 1226)

at org.testng. Test NG runSui tes(Test NG j ava: 1144)

at org.testng. Test NG run(Test NG j ava: 1115)

at org.apache. maven. surefire.testng. Test NGExecut or. run( Test NGExecut or . j ava: 283)

at org.apache. maven. surefire. testng. Test NGXnl Test Sui t e. execut e( Test NGXnml Test Sui t e. j ava: 75)

at org.apache. maven. surefire.testng. Test NGProvi der. i nvoke( Test NGProvi der . j ava: 120)

at org.apache. maven. surefire. boot er. For kedBoot er. i nvokePr ovi der | nSaned assLoader ( For kedBoot er . j ava
373)

at org.apache. maven. surefire. boot er. For kedBoot er. runSui t esl nProcess( For kedBoot er . j ava: 334)

at org.apache. maven. surefire. boot er. For kedBoot er . execut e( For kedBoot er . j ava: 119)

at org.apache. maven. surefire. boot er. For kedBoot er. mai n( For kedBoot er . j ava: 407)

</full-stacktrace>
</ exception> <!-- java.lang. AssertionError -->
<reporter-out put>
</ reporter-out put>
<attributes>
<attribute name="test">
<I[CDATA[]]>
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235] ] >
</attribute> <!-- requirement -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- |abels -->
</attributes>
</test-nethod> <!-- CanAddNunber sFronG venData -->
<t est-net hod status="PASS" signature="CanAddNunber sFronG venData(int, int, int)[pri:0, instance:com
xpand. j ava. Cal cTest @6d4b5c] " nanme="CanAddNunber sFronG venDat a" duration-nms="0" started-at="2018-03-06T11: 53
00Z" dat a- provi der="Val i dDat aProvi der" fini shed-at="2018-03-06T11: 53: 00Z" >
<par ans>
<param i ndex="0">
<val ue>
<![ CDATA[ -1]] >
</ val ue>
</ par an>
<param i ndex="1">
<val ue>
<! [ CDATA[ 1]] >
</ val ue>
</ par an»
<param i ndex="2">
<val ue>
<! [ CDATA[ 0] ] >
</ val ue>
</ par an®>
</ par ans>
<r eporter-out put >
</ reporter-output>
<attributes>
<attribute name="test">
<I[CDATA[]]>
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235] ] >
</attribute> <!-- requirenment -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- |abels -->
</attributes>
</test-nethod> <!-- CanAddNunber sFronG venData -->
<test-nethod status="FAIL" signature="CanDoStuff()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]"
nane="CanDoSt uf f" duration-ns="0" started-at="2018-03-06T11: 53: 00Z" fi ni shed-at="2018-03-06T11: 53: 002" >
<exception class="java.lang. AssertionError">
<message>



<I[CDATA[ nul I1]]>
</ message>
<full-stacktrace>
<! [ CDATA[ j ava. | ang. AssertionError: null
at org.testng. Assert.fail (Assert.java: 93)
at org.testng. Assert.assertNot Equal s(Assert.java: 897)
at org.testng. Assert. assert Not Equal s(Assert.java: 902)
at com xpand. j ava. Cal cTest. CanDoSt uf f (Cal cTest . j ava: 86)
at sun.refl ect. NativeMet hodAccessor |l npl.invokeO(Native Method)
at sun.reflect.NativeMet hodAccessor | npl.invoke(NativeMet hodAccessorl npl.java: 62)
at sun.reflect. Del egati ngMet hodAccessor | npl . i nvoke( Del egati ngMet hodAccessor | npl . j ava: 43)
at java.lang.reflect.Mthod.invoke(Method.java: 498)
at org.testng.internal.Methodl nvocati onHel per.i nvokeMet hod( Met hodl nvocat i onHel per . j ava: 108)
at org.testng.internal.lnvoker.invokeMethod(lnvoker.java: 661)
at org.testng.internal.lnvoker.invokeTest Met hod(Il nvoker.java: 869)
at org.testng.internal.|nvoker.invokeTest Met hods(Il nvoker.java: 1193)
at org.testng.internal.Test Met hodWrker. i nvokeTest Met hods( Test Met hodWor ker . j ava: 126)
at org.testng.internal. Test Met hodWor ker. run( Test Met hodWor ker . j ava: 109)
at org.testng. Test Runner. privat eRun( Test Runner . j ava: 744)
at org.testng. Test Runner.run(Test Runner.j ava: 602)
at org.testng. SuiteRunner.runTest (SuiteRunner.java: 380)
at org.testng. SuiteRunner.runSequential | y(SuiteRunner.java: 375)
at org.testng. SuiteRunner. privat eRun(Sui t eRunner.java: 340)
at org.testng. SuiteRunner.run(SuiteRunner.java: 289)
at org.testng. SuiteRunner Wor ker . runSui t e( Sui t eRunner Wor ker . j ava: 52)
at org.testng. SuiteRunnerWrker. run(SuiteRunnerWorker. java: 86)
at org.testng. Test NG runSui t esSequenti al | y(Test NG j ava: 1301)
at org.testng. Test NG runSui t esLocal | y(Test NG j ava: 1226)
at org.testng. Test NG runSui tes(Test NG j ava: 1144)
at org.testng. Test NG run(Test NG j ava: 1115)
at org.apache. maven. surefire.testng. Test NGExecut or. run( Test NGExecut or . j ava: 283)
at org.apache. maven. surefire. testng. Test NGXnl Test Sui t e. execut e( Test NGXnml Test Sui t e. j ava: 75)
at org.apache. maven. surefire.testng. Test NGProvi der. i nvoke( Test NGProvi der. j ava: 120)
at org.apache. maven. surefire. boot er. For kedBoot er. i nvokeProvi der | nSaned assLoader ( For kedBoot er . j ava:
373)
at org.apache. maven. surefire. boot er. For kedBoot er. runSui t esl nProcess( For kedBoot er . j ava: 334)
at org.apache. maven. surefire. boot er. For kedBoot er . execut e( For kedBoot er . j ava: 119)
at org.apache. maven. surefire. boot er. For kedBoot er. mai n( For kedBoot er . j ava: 407)

</full-stacktrace>
</ exception> <!-- java.lang. AssertionError -->
<reporter-out put>
</ reporter-out put >
</test-nethod> <!-- CanDoStuff -->
<t est-nethod status="PASS" signature="CanDivide()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]"
name="CanDi vi de" duration-nms="0" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<reporter-out put>
</reporter-output>
<attributes>
<attribute name="test">
<![ CDATA[]] >
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235]] >
</attribute> <!-- requirenment -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >

</attribute> <I-- |abels -->
</attributes>
</test-nethod> <!-- CanDivide -->

<t est-nethod status="PASS" signature="CanMiltiplyX()[pri:0, instance:com xpand.java.
Cal cTest @6d4b5c] " name="CanMul ti pl yX"' duration-ms="0" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-
06T11: 53: 002" >
<reporter-out put>
</ reporter-out put>
<attributes>
<attribute name="test">
<I[CDATA[]] >
</attribute> <!-- test -->
<attribute name="requirement">
<! [ CDATA[ CALC- 1235] ] >



</attribute> <!-- requirement -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >
</attribute> <!-- |abels -->
</attributes>
</test-nmethod> <!-- CanMultiplyX -->
<t est - net hod status="PASS" signature="CanSubtract()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]"
name="CanSubtract" duration-nms="0" started-at="2018-03-06T11: 53: 002" fi ni shed-at="2018-03-06T11: 53: 00Z" >
<r eporter-out put >
</reporter-output>
<attributes>
<attribute name="test">
<! [ CDATA[]] >
</attribute> <!-- test -->
<attribute name="requirenment">
<! [ CDATA[ CALC- 1235]] >
</attribute> <!-- requirenment -->
<attribute name="| abel s">
<! [ CDATA[ core] ] >

</attribute> <I-- |abels -->
</attributes>
</test-nmethod> <!-- CanSubtract -->

<t est - net hod st atus="PASS" signature="tearDown()[pri:0, instance:com xpand.java. Cal cTest @6d4b5c]"
name="t ear Down" is-config="true" duration-nms="0" started-at="2018-03-06T11:53: 002" fini shed-at="2018-03-06T11:
53: 002" >
<r eporter-out put >
</ reporter-out put >

</test-nethod> <!-- tearDown -->
</class> <!-- com xpand. java. Cal cTest -->
</test> <!-- calculator -->
</suite> <!-- TestAll -->

</testng-resul ts>

Test Exec Info JSON

{
"fields": {
"project": {
"id": "10402"
1
"sumary": "Test Execution for TestNG Execution",
"issuetype": {
"id": "10007"
}
"conponents" : [
{
"nane":"Interface"
1
{
"nane": " Core"
}
]
}



Test Info JSON

{

"fields": {
"description": "Automated Test",
"priority" : {

"id": "10"

}

"l abel s": [
"Testing",
" Aut omat i on"

]

}
}

@ Example Request

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" -F "info=@testExec.json" -F "testinfo=@test.json" http://your
server/rest/raven/1.0/import/execution/testng/multipart

Responses

: application/json : Successful. The results where successfully imported to Jira. The following Test issues were also created with
success.

Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiralrest/api/2/issue/ 10200"
},
"testlssues": {
"success": [
{
"self": "http://]ocal host: 8080/ rest/api/2/issue/ 10201",
"id": "10201",
"key": "XNP-25"
}
{
"self": "http://]ocal host: 8080/ rest/api/2/issuel/ 10202",
"id": "10202",
"key": "XNP-26"
}
]
}
}

: application/json: Some results where successfully imported to Jira. But the following Test issues failed to be created due to the
following reasons.



Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiral/rest/api/2/issue/ 10200"
3
"testlssues": {
"error": [
{
"messages": [
"Field 'custonfield_10005" cannot be set. It is not on the appropriate screen, or
unknown. "
1.
"testDefinition": "com xpand.java. Cal cTest.CanAddNunber sFronG venDat a"
}
]
}
}

- application/json : Returns the error.
: application/json : The Xray license is not valid.

: application/json : An internal error occurred when importing execution results.

NUnit XML results

After executing NUnit tests, you must import the outputted XML execution results to Jira using the following endpoint:

Import the execution results created with the NUnit XML output formatter. For more information please check the documentation about NUnit integration.
Request

QUERY PARAMETERS

parameter type description

proj ect Key String | - key of the project where the Test Execution (if the testExecKey parameter wasn't provided) and the tests (if they
aren't created yet) are going to be created.

testExecKey @ String | - key of the Test Execution.

testPlanKey @ String | - key of the Test Plan; if you specify the Test Plan, the Tests will be added automatically to the Test Plan if they're not

part of it.
testEnviron String | - a string containing a list of test environments separated by ";"
ments
revision String | - source code and documentation version used in the test execution.
fixVersion String | - the Fix Version associated with the test execution (it supports only one value).

multipart/form-data:
"file" : a MultipartFormParam containing a XML file to import.

Example

NUnit Report XML

<?xm version="1.0" encodi ng="utf-8" standal one="no"?>
<test-run id="0" testcasecount="14" total ="14" passed="13" fail ed="1" inconclusive="0" skipped="0" asserts="
14" result="Fail ed" portabl e-engine-version="3.3.0.0" start-tinme="2016-12-26 14: 36: 03Z" end-ti ne="2016-12-26
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14:36: 032" duration="0.140400">
<test-suite type="Assenbly" id="1021" nane="x, Version=1.0.0.0, Culture=neutral, PublicKeyToken=null"
full name="x, Version=1.0.0.0, Culture=neutral, PublicKeyToken=null" runstate="Runnabl e" testcasecount="14"
resul t="Failed" site="Child" start-time="2016-12-26 14: 36: 03Z" end-tinme="2016-12-26 14:36: 032" duration="
0.110549" total ="14" passed="13" failed="1" inconclusive="0" ski pped="0" asserts="14">
<settings>
<setting name="WorkDirectory" val ue="C:\Users\Sergio\x" />
</ settings>
<failure>
<nmessage><! [ CDATA[ One or nore child tests had errors]]></nmessage>
</failure>
<test-suite type="TestFi xture" id="1000" nane="TestC ass" fullnane="Testd ass" cl assnane="Test d ass"
runst at e="Runnabl e" testcasecount="2" result="Failed" site="Child" start-tinme="2016-12-26 14: 36:03Z" end-
time="2016-12-26 14:36:03Z" duration="0.084668" total ="2" passed="1" failed="1" inconclusive="0" skipped="0"
asserts="2">
<failure>
<nmessage><![ CDATA[ One or nore child tests had errors]]></nessage>
</failure>
<test-suite type="ParaneterizedMethod" id="1003" name="SubtractTest" fullname="TestC ass. Subtract Test"
cl assnane="Test O ass" runstate="Runnabl e" testcasecount="2" result="Failed" site="Child" start-tinme="2016-12-
26 14:36:03Z" end-tinme="2016-12-26 14:36:03Z" durati on="0.080887" total ="2" passed="1" fail ed="1"
i nconcl usi ve="0" ski pped="0" asserts="2">
<properties>
<property name="Requirenent" val ue="DEV-771" />
</ properties><failure>
<message><! [ CDATA[ One or nore child tests had errors]]></nmessage>
</failure>
<t est-case i d="1001" name="SubtractTest(1)" fullname="Testd ass. SubtractTest(1)" nethodnanme="
Subtract Test" cl assname="Testd ass" runstate="Runnabl e" seed="1166833138" result="Failed" start-time="2016-12-
26 14:36:03Z" end-tine="2016-12-26 14:36: 03Z" durati on="0.043525" asserts="1">
<failure>
<nmessage><! [ CDATA] Expected: 10
But was: 1
11 ></ message>
<stack-trace><![ CDATA[ at Test d ass. Subtract Test (I nt32 x) in C\Users\Sergio\x\Testd ass.cs:|ine 13
]]1></stack-trace>
</failure>
</test-case>
<t est-case i d="1002" name="Subtract Test(10)" full name="Testd ass. Subtract Test (10)" net hodnane="
Subtract Test" cl assname="Testd ass" runstate="Runnabl e" seed="1003146807" result="Failed" start-time="2016-12-
26 14:36:03Z" end-tinme="2016-12-26 14:36:03Z" duration="12.000098" asserts="1" />
</test-suite>
</test-suite>
<test-suite type="TestSuite" id="1022" nane="x" fullnane="x" runstate="Runnabl e" testcasecount="12" result="
Passed" start-time="2016-12-26 14: 36: 032" end-time="2016-12-26 14:36: 03Z" duration="0.015218" total ="12"
passed="12" failed="0" inconclusive="0" skipped="0" asserts="12">
<test-suite type="TestFi xture" id="1004" nane="Cal cul ator Tests" full name="x. Cal cul at or Tests" cl assname="x
Cal cul at or Test s" runstat e="Runnabl e" testcasecount="12" result="Passed" start-tine="2016-12-26 14: 36: 03Z" end-
time="2016-12-26 14:36:03Z" duration="0.014979" total ="12" passed="12" failed="0" inconcl usive="0" ski pped="
0" asserts="12">
<test-suite type="ParaneterizedMet hod" id="1008" nanme="CanAddNunbers" full name="x. Cal cul ator Tests
CanAddNunber s" cl assnane="x. Cal cul at or Test s" runst at e="Runnabl e" testcasecount="3" resul t="Passed" start-
time="2016-12-26 14:36:03Z" end-tinme="2016-12-26 14:36:03Z" duration="0.004228" total ="3" passed="3" failed="
0" inconcl usive="0" skipped="0" asserts="3">
<properties>
<property name="Requirenent" val ue="DEV-771" />
</ properties>
<t est-case id="1005" nane="CanAddNunbers(1,1,2)" full nane="x. Cal cul at or Tests. CanAddNunbers(1, 1, 2)"
met hodnane="CanAddNunber s" cl assnane="x. Cal cul at or Tests" runstat e="Runnabl e" seed="1846389584" result="
Passed" start-tinme="2016-12-26 14:36:03Z" end-tine="2016-12-26 14:36: 03Z" durati on="0.001194" asserts="1" />
<t est-case id="1006" nane="CanAddNunbers(-1,-1,-2)" fullname="x. Cal cul at or Tests. CanAddNunbers(-1, -1
-2)" net hodname="CanAddNunbers" cl assname="x. Cal cul at or Tests" runstat e="Runnabl e" seed="1113780989" result="
Passed" start-tinme="2016-12-26 14:36:03Z" end-tine="2016-12-26 14:36: 03Z" durati on="0.000067" asserts="1" />
<t est-case id="1007" nane="CanAddNunbers(100, 5, 105)" ful |l name="x. Cal cul at or Test s. CanAddNunber s
(100, 5,105)" net hodnanme="CanAddNunber s" cl assnanme="x. Cal cul at or Tests" runstat e="Runnabl " seed="1585332966"
resul t ="Passed" start-tine="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000103"
asserts="1" />
</test-suite>
<test-suite type="ParaneterizedMet hod" id="1020" nane="CanDi vi de" fullname="x. Cal cul atorTests
CanDi vi de" cl assnane="x. Cal cul at or Tests" runstat e="Runnabl e" testcasecount="3" result="Passed" start-tine="
2016-12-26 14:36:03Z" end-time="2016-12-26 14:36:03Z" duration="0.004041" total ="3" passed="3" failed="0"



i nconcl usi ve="0" ski pped="0" asserts="3">
<properties>
<property name="Requirenent" val ue="DEV-771" />
</ properties>
<test-case id="1017" nane="CanDi vide(1,1,1)" fullname="x. Cal cul atorTests. CanDi vide(1,1,1)"
net hodnanme="CanbDi vi de" cl assnanme="x. Cal cul at or Tests" runstate="Runnabl e" seed="1285501252" result="Passed"
start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000354" asserts="1" />
<test-case id="1018" name="CanDi vide(-1,-1,1)" fullname="x. Cal cul ator Tests. CanDi vide(-1,-1,1)"
met hodnane="CanDi vi de" cl assnanme="x. Cal cul at or Tests" runstate="Runnabl e" seed="1436436719" result="Passed"
start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36:03Z" duration="0.000073" asserts="1" />
<t est-case id="1019" nane="CanDi vi de(100, 5, 20)" ful | nane="x. Cal cul at or Test s. CanDi vi de(100, 5, 20) "
met hodnane="CanDi vi de" cl assnanme="x. Cal cul at or Tests" runstat e="Runnabl e" seed="213310888" result="Passed"
start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000060" asserts="1" />
</test-suite>
<test-suite type="ParaneterizedMet hod" id="1016" nane="CanMiltiply" fullname="x. Cal cul atorTests
CanMul tiply" classnane="x. Cal cul at or Tests" runstate="Runnabl e" testcasecount="3" result="Passed" start-time="
2016-12-26 14:36:03Z" end-time="2016-12-26 14:36:03Z" duration="0.002759" total ="3" passed="3" failed="0"
i nconcl usi ve="0" ski pped="0" asserts="3">
<test-case id="1013" name="CanMultiply(1,1,1)" fullname="x. Cal cul atorTests. CanMul tiply(1,1,1)"
met hodnane="CanMul ti pl y"* cl assname="x. Cal cul at or Tests" runstat e="Runnabl e" seed="1192735127" result="Passed"
start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000331" asserts="1">
<properties>
<property nanme="I|abel" value="nultiplication" />
</ properties>
</test-case>
<t est-case id="1014" nanme="CanMultiply(-1,-1,1)" fullnane="x. Cal cul atorTests. CanMul tiply(-1,-1,1)"
met hodnane="CanMul ti pl y" cl assnanme="x. Cal cul at or Tests" runstate="Runnabl e" seed="39988064" result="Passed"
start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36:03Z" duration="0.000059" asserts="1">
<properties>
<property name="|abel" value="nultiplication" />
</ properties>
</test-case>
<test-case i d="1015" name="CanMil ti pl y(100, 5, 500)" fullname="x. Cal cul ator Tests. CanMul ti ply
(100, 5,500) " met hodnanme="CanMul ti pl yAgai n" cl assnanme="x. Cal cul at or Tests" runst at e="Runnabl e" seed="
1462346243" resul t="Passed" start-tine="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36:03Z" duration="
0. 000052" asserts="1">
<properties>
<property name="requirenment" val ue="DEV-34" />
</ properties>
</test-case>
</test-suite>
<test-suite type="ParaneterizedMet hod" id="1012" nanme="CanSubtract” full name="x. Cal cul atorTests
CanSubtract" cl assnane="x. Cal cul at or Tests" runstate="Runnabl e" testcasecount="3" result="Passed" start-tine="
2016-12-26 14:36:03Z" end-time="2016-12-26 14:36:03Z" duration="0.002827" total ="3" passed="3" failed="0"
i nconcl usi ve="0" ski pped="0" asserts="3">
<properties>
<property name="requirenent" val ue="DEV-328" />
</ properties>
<test-case i d="1009" name="CanSubtract(1,1,0)" fullnanme="x. Cal cul ator Tests. CanSubtract(1,1,0)"
met hodnane="CanSubtract" cl assname="x. Cal cul at or Tests" runstate="Runnabl e" seed="1019357734" result="Fail ed"
start-time="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000303" asserts="1">
<failure>
<message><! [ CDATA[ Error subtracting]]></ nessage>
</failure>
</test-case>
<t est-case id="1010" nanme="CanSubtract(-1,-1,0)" full nane="x. Cal cul at or Tests. CanSubtract(-1,-1,0)"
met hodnane="CanSubtract" cl assname="x. Cal cul at or Tests" runstate="Runnabl e" seed="1322022615" result="Fail ed"
start-time="2016-12-26 14: 36: 03Z" end-ti ne="2016-12-26 14:36: 032" duration="0.000056" asserts="1" >
<failure>
<message><![ CDATA[ Error subtracting]]></nessage>
</failure>
</test-case>
<t est-case id="1011" nane="CanSubtract (100, 5, 95)" full nane="x. Cal cul at or Tests. CanSubt ract (100, 5, 95) "
met hodnane="CanSubtract" cl assnane="x. Cal cul at or Tests" runstate="Runnabl e" seed="4493553" result="Passed"
start-time="2016-12-26 14: 36:03Z" end-ti me="2016-12-26 14:36:03Z" duration="0.000053" asserts="1" />
</test-suite>
</test-suite>
</test-suite>
</test-suite>
</test-run>



@ Example Request

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/nunit?
projectkKey=XTP

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/nunit?
testExecKey=XNP-23

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/nunit?
projectKey=XTP&testExecKey=XNP-23

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" http://yourserver/rest/raven/1.0/import/execution/nunit?
projectKey=XTP&testPlanKey=XTP-12&revision=v2.1.0

Responses

: application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiralrest/api/2/issue/ 10200"
}
}

- application/json : Returns the error.
: application/json : The Xray license is not valid.

- application/json : An internal error occurred when importing execution results.

NUnit XML results Multipart

Xray provides another endpoint if you want to create new Test Executions and have control over newly-created Test Execution and Test fields. It allows
you to send one XML file (the NUnit report) and two JSON files similar to the one Jira uses to create new issues. For more information about the JSON
format, check the Jira documentation here.

As of the creation of Test issues, some field values in the JSON file will follow some rules:

Issue Type: Overridden by the Test issue type;

Summary: Overridden by the internally generated summary;

Parent: This field is ignored;

Project: If the there is not a Test issue with the same Generic Test Definition, then it will be created in the provided project;
Generic Test Definition: Not allowed to provide a value for this field.

Import the execution results created with the NUnit XML output formatter. For more information please check the documentation about NUnit integration.
Note: Currently, if you specify the Test Plan custom field, the Tests of the Test Execution will not be added automatically to the Test Plan.
Request

Example

NUnit Report XML

<?xm version="1.0" encodi ng="utf-8" standal one="no"?>

<test-run id="0" testcasecount="14" total ="14" passed="13" fail ed="1" inconclusive="0" skipped="0" asserts="
14" result="Fail ed" portabl e-engi ne-version="3.3.0.0" start-tinme="2016-12-26 14: 36: 03Z" end-ti ne="2016-12-26
14:36: 032" duration="0.140400">

<test-suite type="Assenbly" id="1021" nanme="x, Version=1.0.0.0, Culture=neutral, PublicKeyToken=null"


https://docs.atlassian.com/software/jira/docs/api/REST/7.4.1/#api/2/issue-createIssue
http://confluence.xpand-addons.com/display/XRAY21/Integration+with+Nunit+based+test+runners

full name="x, Version=1.0.0.0, Culture=neutral, PublicKeyToken=null" runstate="Runnable" testcasecount="14"
result="Failed" site="Child" start-time="2016-12-26 14: 36: 03Z" end-tine="2016-12-26 14:36: 03Z" duration="
0.110549" total ="14" passed="13" failed="1" inconclusive="0" skipped="0" asserts="14">
<settings>
<setting name="WorkDirectory" val ue="C:\Users\Sergio\x" />
</settings>
<failure>
<message><! [ CDATA[ One or nore child tests had errors]]></nmessage>
</failure>
<test-suite type="TestFi xture" id="1000" nane="TestC ass" full nanme="Testd ass" cl assnane="Test d ass"
runst at e="Runnabl e" testcasecount="2" result="Failed" site="Child" start-tinme="2016-12-26 14: 36:03Z" end-
tine="2016-12-26 14:36:03Z" duration="0.084668" total ="2" passed="1" fail ed="1" inconclusive="0" ski pped="0"
asserts="2">
<failure>
<nmessage><! [ CDATAl One or nore child tests had errors]]></nessage>
</failure>
<test-suite type="ParaneterizedMethod" id="1003" nane="SubtractTest" full name="Testd ass. Subtract Test"
cl assnane="Test O ass" runstate="Runnabl e" testcasecount="2" result="Failed" site="Child" start-tinme="2016-12-
26 14:36:03Z" end-tinme="2016-12-26 14: 36: 03Z" duration="0.080887" total ="2" passed="1" fail ed="1"
i nconcl usi ve="0" ski pped="0" asserts="2">
<properties>
<property name="Requirenent" val ue="DEV-771" />
</ properties><failure>
<message><! [ CDATA[ One or nore child tests had errors]]></nmessage>
</failure>
<test-case i d="1001" name="SubtractTest(1)" fullname="Testd ass. Subtract Test(1)" nethodnanme="
Subtract Test" cl assname="Test d ass" runstate="Runnabl e" seed="1166833138" result="Failed" start-tinme="2016-12-
26 14:36:03Z" end-tine="2016-12-26 14: 36: 03Z" duration="0.043525" asserts="1">
<failure>
<nmessage><! [ CDATA] Expected: 10
But was: 1
11></ message>
<stack-trace><![ CDATA[ at Testd ass. Subtract Test (I nt32 x) in C\Users\Sergi o\x\Testd ass.cs:line 13
]11></stack-trace>
</failure>
</test-case>
<test-case i d="1002" name="Subtract Test(10)" full name="Testd ass. Subtract Test (10)" nethodnane="
Subtract Test" cl assname="Test d ass" runstate="Runnabl e" seed="1003146807" result="Failed" start-time="2016-12-
26 14:36:03Z" end-tine="2016-12-26 14: 36: 03Z" duration="12.000098" asserts="1" />
</test-suite>
</test-suite>
<test-suite type="TestSuite" id="1022" nanme="x" fullname="x" runstate="Runnabl e" testcasecount="12" result="
Passed" start-time="2016-12-26 14:36:03Z" end-tine="2016-12-26 14: 36: 03Z" durati on="0.015218" total ="12"
passed="12" failed="0" inconclusive="0" skipped="0" asserts="12">
<test-suite type="TestFi xture" id="1004" nane="Cal cul ator Tests" ful | nane="x. Cal cul at or Tests" cl assnanme="x.
Cal cul at or Test s" runst at e="Runnabl e" testcasecount="12" result="Passed" start-tine="2016-12-26 14: 36: 032" end-
tine="2016-12-26 14:36: 03Z" duration="0.014979" total ="12" passed="12" fail ed="0" inconclusive="0" ski pped="
0" asserts="12">
<test-suite type="ParaneterizedMethod" id="1008" name="CanAddNunbers" full name="x. Cal cul at or Test s.
CanAddNunber s" cl assnane="x. Cal cul at or Test s" runst at e="Runnabl e" testcasecount="3" result="Passed" start-
tinme="2016-12-26 14:36:03Z" end-tine="2016-12-26 14:36:03Z" duration="0.004228" total ="3" passed="3" fail ed="
0" inconclusive="0" skipped="0" asserts="3">
<properties>
<property name="Requirenent" val ue="DEV-771" />
</ properties>
<t est-case id="1005" nane="CanAddNunbers(1, 1,2)" full nane="x. Cal cul at or Tests. CanAddNunbers(1,1,2)"
met hodnanme=" CanAddNunber s" cl assnane="x. Cal cul at or Test s" runst at e="Runnabl e" seed="1846389584" result="
Passed" start-tinme="2016-12-26 14:36:03Z" end-tine="2016-12-26 14: 36: 03Z" durati on="0.001194" asserts="1" />
<t est-case id="1006" nanme="CanAddNunmbers(-1,-1,-2)" fullname="x. Cal cul at or Tests. CanAddNunbers(-1, -1,
-2)" met hodnanme="CanAddNunber s" cl assnanme="x. Cal cul at or Tests" runstat e="Runnabl e" seed="1113780989" result="
Passed" start-tinme="2016-12-26 14:36:03Z" end-tine="2016-12-26 14: 36: 03Z" durati on="0.000067" asserts="1" />
<t est-case id="1007" nanme="CanAddNunbers( 100, 5, 105)" ful | name="x. Cal cul at or Test s. CanAddNurber s
(100, 5, 105)" met hodname="CanAddNunber s" cl assnane="x. Cal cul at or Test s" runst at e="Runnabl e" seed="1585332966"
resul t ="Passed" start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000103"
asserts="1" />
</test-suite>
<test-suite type="ParaneterizedMet hod" id="1020" name="CanDi vi de" full name="x. Cal cul at or Tests.
CanDi vi de" cl assnane="x. Cal cul at or Tests" runstat e="Runnabl e" testcasecount="3" result="Passed" start-tine="
2016- 12- 26 14:36:03Z" end-tinme="2016-12-26 14:36:03Z" duration="0.004041" total ="3" passed="3" fail ed="0"
i nconcl usi ve="0" ski pped="0" asserts="3">
<properties>



<property name="Requirenment" val ue="DEV-771" />
</ properties>
<test-case id="1017" name="CanDi vide(1,1,1)" fullname="x. Cal cul ator Tests. CanDi vide(1,1,1)"
met hodnane="CanDi vi de" cl assnanme="x. Cal cul at or Tests" runstate="Runnabl e" seed="1285501252" result="Passed"
start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000354" asserts="1" />
<test-case id="1018" nane="CanDivide(-1,-1,1)" fullnanme="x. Cal cul atorTests. CanDi vide(-1,-1,1)"
nmet hodnane="CanDi vi de" cl assnanme="x. Cal cul at or Tests" runstate="Runnabl e" seed="1436436719" result="Passed"
start-time="2016-12-26 14:36:03Z" end-ti me="2016-12-26 14:36:03Z" duration="0.000073" asserts="1" />
<test-case i d="1019" nane="CanDi vi de(100, 5,20)" ful |l nane="x. Cal cul at or Test s. CanDi vi de( 100, 5, 20) "
met hodnane="CanDi vi de" cl assnanme="x. Cal cul at or Tests" runstat e="Runnabl e" seed="213310888" result="Passed"
start-time="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000060" asserts="1" />
</test-suite>
<test-suite type="Paraneteri zedMet hod" id="1016" nanme="CanMil tiply" fullname="x. Cal cul atorTests
CanMul ti ply" classname="x. Cal cul at or Tests" runstate="Runnabl e" testcasecount="3" result="Passed" start-tine="
2016- 12-26 14:36:03Z" end-ti ne="2016-12-26 14:36:03Z" duration="0.002759" total ="3" passed="3" fail ed="0"
i nconcl usi ve="0" ski pped="0" asserts="3">
<test-case i d="1013" name="CanMul tiply(1,1,1)" fullnanme="x. Cal cul ator Tests. CanMul tiply(1,1,1)"
met hodnane="CanMul ti pl y" cl assnanme="x. Cal cul at or Tests" runstate="Runnabl e" seed="1192735127" result="Passed"
start-time="2016-12-26 14:36:03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000331" asserts="1">
<properties>
<property name="I|abel" value="nultiplication" />
</ properties>
</test-case>
<test-case id="1014" nanme="CanMul tiply(-1,-1,1)" fullnane="x. Cal cul atorTests. CanMul tiply(-1,-1,1)"
net hodname="CanMul ti pl y" cl assname="x. Cal cul at or Tests" runstate="Runnabl e" seed="39988064" result="Passed"
start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36:03Z" duration="0.000059" asserts="1">
<properties>
<property name="|abel" value="nultiplication" />
</ properties>
</test-case>
<t est-case id="1015" nane="CanMil ti ply(100, 5, 500)" full nane="x. Cal cul ator Tests. CanMul tiply
(100, 5,500) " met hodnane="CanMul ti pl yAgai n" cl assnanme="x. Cal cul at or Tests" runstat e="Runnabl e" seed="
1462346243" resul t ="Passed" start-tine="2016-12-26 14:36: 03Z" end-ti me="2016-12-26 14:36:03Z" duration="
0. 000052" asserts="1">
<properties>
<property name="requirenment" val ue="DEV-34" />
</ properties>
</test-case>
</test-suite>
<test-suite type="Paraneteri zedMet hod" id="1012" nanme="CanSubtract” full name="x. Cal cul atorTests
CanSubtract" cl assnane="x. Cal cul at or Tests" runst at e="Runnabl e" testcasecount="3" result="Passed" start-tine="
2016- 12-26 14:36:03Z" end-ti ne="2016-12-26 14:36:03Z" duration="0.002827" total ="3" passed="3" fail ed="0"
i nconcl usi ve="0" ski pped="0" asserts="3">
<properties>
<property name="requirenment" val ue="DEV-328" />
</ properties>
<t est-case i d="1009" nane="CanSubtract(1,1,0)" fullname="x. Cal cul ator Tests. CanSubtract(1,1,0)"
met hodnane="CanSubtract" cl assnanme="x. Cal cul ator Tests" runstate="Runnabl e" seed="1019357734" result="Fail ed"
start-time="2016-12-26 14: 36:03Z" end-ti me="2016-12-26 14:36:03Z" duration="0.000303" asserts="1">
<failure>
<message><! [ CDATA[ Error subtracting]]></ nessage>
</failure>
</test-case>
<t est-case id="1010" nanme="CanSubtract(-1,-1,0)" full nane="x. Cal cul at or Tests. CanSubtract(-1,-1,0)"
met hodnane="CanSubtract" cl assname="x. Cal cul at or Tests" runstate="Runnabl e" seed="1322022615" result="Fail ed"
start-time="2016-12-26 14: 36: 03Z" end-ti ne="2016-12-26 14:36: 03Z" duration="0.000056" asserts="1" >
<failure>
<message><! [ CDATA[ Error subtracting]]></ nessage>
</failure>
</test-case>
<t est-case id="1011" nane="CanSubtract (100, 5, 95)" full nane="x. Cal cul at or Tests. CanSubt ract (100, 5, 95)"
met hodnane="CanSubtract" cl assnane="x. Cal cul at or Tests" runstate="Runnabl e" seed="4493553" result="Passed"
start-tinme="2016-12-26 14: 36: 03Z" end-ti me="2016-12-26 14:36: 03Z" duration="0.000053" asserts="1" />
</test-suite>
</test-suite>
</test-suite>
</test-suite>
</test-run>



Test Exec Info JSON

{
"fields": {
"project": {
"id": "10402"
b
"summary": "Test Execution for nunit Execution",
"issuetype": {
"id": "10007"
b
"conponents" : [
{
"nane":"Interface"
b
{
"nanme": " Core"
}
]
}
}
Test Info JSON
{
"fields": {
"description": "Automated Test",
"priority" : {
"id": "10"
},
"l abel s": [
"Testing",
" Aut omat i on"
]
}
}

@ Example Request

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@report.xml" -F "info=@testExec.json" -F "testinfo=@test.json" http://your
server/rest/raven/1.0/import/execution/nunit/multipart

Responses

: application/json : Successful. The results where successfully imported to Jira. The following Test issues were also created with
success.



Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiral/rest/api/2/issue/ 10200"
3
"testlssues": {
"success": [
{
"self": "http://local host: 8080/ rest/api/2/issue/10201",
"id": "10201",
"key": "XNP-25"
}
{
"self": "http://]ocal host: 8080/ rest/api/2/issuel/ 10202",
"id": "10202",
"key": "XNP-26"
}
]
}
}

: application/json: Some results where successfully imported to Jira. But the following Test issues failed to be created due to the
following reasons.

Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiralrest/api/2/issue/10200"
b
"testlssues": {
"error": [
{
"nmessages": [
"Field 'custonfield 10005 cannot be set. It is not on the appropriate screen, or
unknown. "
1.
"testDefinition": "x.Calcul atorTests. CanMul ti ply"
}
]
}
}

- application/json : Returns the error.
: application/json : The Xray license is not valid.

: application/json : An internal error occurred when importing execution results.

Robot Framework XML results

After executing Robot Framework tests, you must import the output XML execution results to Jira using the following endpoint:

Import the execution results from Robot Framework XML output format.

Request



QUERY PARAMETERS

parameter

type description

proj ect Key ' String | - key of the project where the Test Execution (if the testExecKey parameter wasn't provided) and the tests (if they

testExecKey
testPlanKey
testEnviron
ments
revision

fixVersion

aren't created yet) are going to be created.
String | - key of the Test Execution.

String | - key of the Test Plan; if you specify the Test Plan, the Tests will be added automatically to the Test Plan if they're not
part of it.

String | - a string containing a list of test environments separated by ";"

String | - source code and documentation version used in the test execution.

String | - the Fix Version associated with the test execution (it supports only one value).

multipart/form-data:

"file" : a Mult

Example

ipartFormParam containing a XML file to import.

Robot Report XML

<?xm version=
<robot generat
<suite sourc
webdeno\ | ogi n_
<suite sou
webdemo\ | ogi n_
<test id

<kw na

<kw

"1.0" encodi ng="UTF-8"?>

ed="20170220 14:18:54.562" generator="Robot 3.0.2 (Python 2.7.13 on wi n32)">

e="C:\ User s\ I nf v\ Docunent s\ Saco de Feat ures\xray-1238\robot - exanpl e\ robot f r anmewor k-
tests" id="s1" nanme="Login Tests">

rce="C:\ Users\I| nfv\Docunment s\ Saco de Feat ures\xray-1238\robot - exanpl e\ robot f r amewor k-
test s\ gherki n_l ogi n.robot" id="s1l-s1" nane="Gherkin Login">

="sl-s1-t1" nane="Cherkin Valid Login">

me="G ven browser is opened to |ogin page">

name="Logi n Page Should Be Open" |ibrary="resource">

<kw nane="Titl e Should Be" I|ibrary="Sel eni un2Li brary">

<doc>Verifies that current page title equals "title .</doc>
<ar gunent s>
<arg>Log in - Your Conpany JI RA</arg>
</ ar gunent s>
<nsg timestanp="20170220 14:19:07.693" |evel ="I NFO'>Page title is 'Log in - Your Conpany JIRA .<

/ msg>
<status status="PASS" endtinme="20170220 14: 19:07.693" starttinme="20170220 14:19: 07. 158" >
</ st at us>
</ kw>
<status status="PASS" endtime="20170220 14:19:07.693" starttime="20170220 14: 19: 07. 158" >
</ status>
</ kw>
<status status="PASS' endti ne="20170220 14:19: 07.693" starttime="20170220 14:18:55.937">
</ st at us>
</ kw>
<kw nane="When user &quot;adm n&quot; logs in with password &quot; password123&quot ;">
<kw nane="1nput Usernane" |ibrary="resource">
<ar gunment s>

</

<ar g>${user nane} </ ar g>
ar gunent s>

<kw nanme="Input Text" |ibrary="Sel eni un2Li brary">

<doc>Types the given "text  into text field identified by “locator”.</doc>
<ar gunent s>
<ar g>l ogi n-f or m user nane</ ar g>
<ar g>${ user nane} </ ar g>
</ ar gunent s>
<neg timestanp="20170220 14:19: 07.696" |evel ="I NFO'>Typing text 'admn' into text field 'l ogin-

f orm user nane' </ nsg>

<status status="PASS" endtine="20170220 14: 19:09. 314" startti nme="20170220 14:19: 07. 696" >
</ status>

</ kw>
<status status="PASS" endti nme="20170220 14:19:09. 314" starttinme="20170220 14:19: 07.695">
</ st atus>

</ kw>



<kw name="I|nput Password" |ibrary="resource">
<ar gunent s>
<ar g>${ passwor d} </ ar g>
</ ar gunent s>
<kw nane="I|nput Text" |ibrary="Sel eni un2Li brary">
<doc>Types the given "text  into text field identified by “locator’.</doc>
<ar gunent s>
<ar g>| ogi n-f or m passwor d</ ar g>
<ar g>${ passwor d} </ ar g>
</ ar gunent s>
<nmsg tinmestanp="20170220 14:19: 09. 316" | evel ="I NFO'>Typi ng text 'passwordl23' into text field
'l ogi n-form password' </ nsg>
<status status="PASS' endtine="20170220 14:19: 10. 956" starttinme="20170220 14:19:09. 316" >
</ status>
</ kw>
<status status="PASS" endtime="20170220 14: 19:10. 956" starttinme="20170220 14:19: 09. 315" >
</ status>
</ kw>
<kw nane="Submt Credentials" |ibrary="resource">
<kw nane="Cick Button" |ibrary="Sel eni untLi brary">
<doc>Clicks a button identified by “locator”.</doc>
<ar gunent s>
<ar g>l ogi n-f orm subni t </ ar g>
</ ar gunent s>
<nsg tinmestanp="20170220 14:19:10.958" |evel ="I NFO'>d icking button 'login-formsubmt'.</nsg>
<status status="PASS' endtine="20170220 14:19:17.476" starttinme="20170220 14:19: 10.958">
</ st at us>
</ kw>
<status status="PASS" endti me="20170220 14:19:17.477" starttinme="20170220 14:19:10.957">
</ status>
</ kw>
<status status="PASS"' endtine="20170220 14:19:17.478" starttime="20170220 14:19:07.695">
</ st at us>
</ kw>
<kw nane="Then wel cone page shoul d be open" |ibrary="resource">
<kw nanme="Locati on Shoul d Be" |i brary="Sel eni un2Li brary">
<doc>Verifies that current URL is exactly “url .</doc>
<ar gunent s>
<ar g>${ WELCOVE URL} </ ar g>
</ ar gunent s>
<kw nane="Capt ure Page Screenshot" |ibrary="Sel eni un2Li brary">
<doc>Takes a screenshot of the current page and enbeds it into the |og.</doc>
<msg tinestanp="20170220 14:19:18. 702" htm ="yes" level ="INFO'>& t;/td&gt; & t;/tr&gt; & t;tré&gt;
&t;td col span="3"&gt; & t;a href="sel eni um screenshot-1. png"&gt; & t;ing src="sel enium screenshot - 1. png"
wi dt h="800px" &gt ; & t; / a&gt ; </ nsg>
<status status="PASS" endtinme="20170220 14: 19:18. 702" starttinme="20170220 14:19: 18. 004" >
</ st at us>
</ kw>
<msg tinestanp="20170220 14:19: 18. 705" |evel ="FAI L">Location should have been 'http://| ocal host:
8080/ secur e/ Dashboard. j spa' but was 'http://]ocal host:8080/1ogin.jsp' </ nmsg>
<status status="FAIL" endtime="20170220 14:19:18. 705" starttime="20170220 14:19: 17.483">
</ status>
</ kw>
<status status="FAIL" endtinme="20170220 14: 19:18. 706" starttinme="20170220 14:19:17.481">
</ st at us>
</ kw>
<kw type="t eardown" nanme="Cl ose Browser" |ibrary="Sel eni unLi brary">
<doc>Cl oses the current browser.</doc>
<status status="PASS" endtinme="20170220 14: 19:22. 382" starttinme="20170220 14:19: 18. 707" >
</ st at us>
</ kw>
<tags>
<t ag>WEB- 1</ t ag>
<t ag>WEB- 3</ t ag>
</tags>
<status status="FAIL" endtinme="20170220 14:19:22.383" critical ="yes" starttime="20170220 14: 18: 55. 936"
>Location shoul d have been 'http://1ocal host: 8080/ secure/ Dashboard. jspa'" but was 'http://| ocal host: 8080/ I ogi n.
jsp' </status>
</test>
<doc>A test suite with a single CGherkin style test.This test is functionally identical to the exanple
invalid_login.robot file.</doc>



<status status="FAIL" endtine="20170220 14:19:22.397" starttinme="20170220 14: 18:54. 670" >
</ status>
</suite>
<status status="FAIL" endtinme="20170220 14:22:12.549" starttinme="20170220 14:18: 54.567">
</ st atus>
</ sui te>
</ robot >

@ Example Request

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@output.xml" http://yourserver/rest/raven/1.0/import/execution/robot?
projectKey=XTP

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@output.xml" http://yourserver/rest/raven/1.0/import/execution/robot?
testExecKey=XNP-23

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@output.xml" http://yourserver/rest/raven/1.0/import/execution/robot?
projectKey=XTP&testExecKey=XNP-23

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@output.xml" http://yourserver/rest/raven/1.0/import/execution/robot?
projectkKey=XTP&testPlanKey=XTP-12&revision=v2.1.0

Responses

. application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiralrest/api/2/issue/ 10200"
}
}

- application/json : Returns the error.
: application/json : The Xray license is not valid.

. application/json : An internal error occurred when importing execution results.

Robot Framework XML results Multipart

Xray provides another endpoint if you want to create new Test Executions and have control over newly-created Test Execution and Test fields. It allows
you to send one XML file (the Robot report) and a JSON similar to the one Jira uses to create new issues. For more information about that second format,
check the Jira documentation here.

As of the creation of Test issues, some field values in the JSON file will follow some rules:

Issue Type: Overridden by the Test issue type;

Summary: Overridden by the internally generated summary;

Parent: This field is ignored;

Project: If the there is not a Test issue with the same Generic Test Definition, then it will be created in the provided project;
Generic Test Definition: Not allowed to provide a value for this field.

Imports the execution results from Robot Framework XML output format. For more information please check the documentation about
Note: Currently, if you specify the Test Plan custom field, the Tests of the Test Execution will not be added automatically to the Test Plan.
Request

Example


https://docs.atlassian.com/software/jira/docs/api/REST/7.4.1/#api/2/issue-createIssue

Robot Report XML

<?xm version="1.0" encodi ng="UTF-8"?>
<robot generated="20170220 14: 18: 54. 562" generator="Robot 3.0.2 (Python 2.7.13 on wi n32)">
<suite source="C:\Users\| nfv\Document s\ Saco de Feat ures\xray-1238\robot - exanpl e\ robot f r amewor k-
webdemo\ | ogi n_tests" id="sl1l" nanme="Login Tests">
<suite source="C:\Users\I|nfv\Docunment s\ Saco de Feat ures\xray-1238\robot - exanpl e\ robot f r amewor k-
webdeno\ | ogi n_t est s\ gherki n_| ogi n.robot" id="sl1l-s1" nanme="Gherkin Login">
<test id="sl-s1-t1" nane="Gherkin Valid Login">
<kw nane="G ven browser is opened to | ogin page">
<kw nanme="Logi n Page Shoul d Be Open" library="resource">
<kw nane="Titl e Should Be" I|ibrary="Sel eni un2Li brary">
<doc>Verifies that current page title equals “title .</doc>
<ar gunent s>
<arg>Log in - Your Conpany JI RA</arg>
</ ar gunent s>
<nmsg tinmestanp="20170220 14:19: 07.693" | evel ="INFO'>Page title is 'Log in - Your Conpany JIRA .<

/ nsg>
<status status="PASS"' endti ne="20170220 14:19: 07.693" starttime="20170220 14:19:07. 158" >
</ st at us>
</ kw>
<status status="PASS" endti me="20170220 14:19:07.693" starttinme="20170220 14:19:07.158">
</ status>
</ kw>
<status status="PASS' endtine="20170220 14:19: 07.693" starttime="20170220 14:18:55.937">
</ st at us>
</ kw>
<kw nane="When user &quot;adm n&quot; logs in with password &quot; passwordl23&quot ;">
<kw name="I|nput Username" |ibrary="resource">

<ar gunent s>
<ar g>${user nane} </ ar g>
</ ar gunent s>
<kw nane="I|nput Text" |ibrary="Sel eni un2Li brary">
<doc>Types the given “text® into text field identified by “locator’.</doc>
<ar gunent s>
<ar g>l ogi n-f or m user nane</ ar g>
<ar g>${ user nane} </ ar g>
</ ar gunent s>
<nmsg tinestanp="20170220 14: 19: 07.696" |evel ="INFO'>Typing text "admn' into text field 'l ogin-
f or m user nane' </ nsg>
<status status="PASS"' endtime="20170220 14:19:09. 314" starttine="20170220 14:19: 07. 696" >
</ st at us>
</ kw>
<status status="PASS"' endti ne="20170220 14:19:09. 314" startti me="20170220 14:19: 07. 695" >
</ status>
</ kw>
<kw nane="1nput Password" |ibrary="resource">
<ar gunent s>
<ar g>${ passwor d} </ ar g>
</ ar gunent s>
<kw nanme="Input Text" |ibrary="Sel eni un2Li brary">
<doc>Types the given "text  into text field identified by "locator”.</doc>
<ar gunent s>
<ar g>l ogi n-f or m passwor d</ ar g>
<ar g>${ passwor d} </ ar g>
</ ar gunent s>
<nsg tinmestanp="20170220 14: 19: 09. 316" | evel ="I NFO'>Typi ng text 'passwordl23' into text field
"1 ogi n-form password' </ nsg>
<status status="PASS"' endtime="20170220 14:19:10.956" starttine="20170220 14:19:09. 316" >
</ st at us>
</ kw>
<status status="PASS' endti ne="20170220 14:19:10. 956" starttime="20170220 14:19:09. 315">
</ status>
</ kw>
<kw nanme="Subnmit Credentials" |ibrary="resource">
<kw nanme="Cick Button" |ibrary="Sel eni unLi brary">
<doc>Clicks a button identified by "locator”.</doc>
<ar gunent s>
<ar g>| ogi n-f orm subni t </ ar g>
</ ar gunent s>



<nsg tinmestanp="20170220 14:19:10.958" |evel ="I NFO'>d icking button 'login-formsubmt'.</nsg>
<status status="PASS' endtine="20170220 14:19:17.476" starttinme="20170220 14:19: 10.958">
</ st at us>
</ kw>
<status status="PASS" endti me="20170220 14:19:17.477" starttinme="20170220 14:19:10.957">
</ status>
</ kw>
<status status="PASS" endtinme="20170220 14:19:17.478" starttime="20170220 14:19: 07. 695" >
</ st atus>
</ kw>
<kw nane="Then wel cone page shoul d be open" |ibrary="resource">
<kw nanme="Locati on Shoul d Be" |i brary="Sel eni un2Li brary">
<doc>Verifies that current URL is exactly “url . </doc>
<ar gunent s>
<ar g>${ WELCOVE URL} </ ar g>
</ ar gunent s>
<kw nane="Capt ure Page Screenshot" |ibrary="Sel eni un2Li brary">
<doc>Takes a screenshot of the current page and enbeds it into the |og.</doc>
<nmsg tinestanp="20170220 14:19: 18. 702" htm ="yes" level ="INFO'>& t;/td&gt; & t;/tr&gt; & t;tré&gt;
& t;td col span="3"&gt; & t;a href="sel eni um screenshot-1.png"&gt; & t;ing src="sel eni um screenshot - 1. png"
wi dt h="800px" &gt ; & t; / a&gt ; </ nsg>
<status status="PASS" endtinme="20170220 14: 19:18. 702" starttinme="20170220 14:19: 18. 004" >
</ st at us>
</ kw>
<msg tinestanp="20170220 14:19:18. 705" |evel ="FAI L">Location shoul d have been 'http://I| ocal host:
8080/ secur e/ Dashboard. j spa' but was 'http://]ocal host:8080/1ogin.jsp' </ nmsg>
<status status="FAIL" endtime="20170220 14:19:18. 705" starttime="20170220 14:19: 17.483">
</ status>
</ kw>
<status status="FAIL" endtinme="20170220 14: 19:18. 706" starttinme="20170220 14:19:17.481">
</ st at us>
</ kw>
<kw type="t eardown" nane="Cl ose Browser" |ibrary="Sel eni unLi brary">
<doc>Cl oses the current browser.</doc>
<status status="PASS" endtinme="20170220 14: 19:22. 382" starttinme="20170220 14:19: 18. 707" >
</ st at us>
</ kw>
<tags>
<t ag>WEB- 1</ t ag>
<t ag>WEB- 3</ t ag>
</ tags>
<status status="FAIL" endtime="20170220 14:19:22.383" critical ="yes" starttime="20170220 14: 18: 55. 936"
>Location shoul d have been 'http://1ocal host: 8080/ secure/ Dashboard. jspa’" but was 'http://| ocal host: 8080/ I ogi n.
jsp' </status>
</test>
<doc>A test suite with a single CGherkin style test.This test is functionally identical to the exanple
invalid_login.robot file.</doc>
<status status="FAIL" endtine="20170220 14:19:22.397" starttinme="20170220 14:18:54.670">
</ st at us>
</suite>
<status status="FAlIL" endtine="20170220 14:22:12.549" startti me="20170220 14:18: 54.567">
</ status>
</ sui te>
</ r obot >



Test Exec Info JSON

{
"fields": {
"project": {
"id": "10402"
b
"sumuary": "Test Execution for robot Execution",
"issuetype": {
"id": "10007"
b
"conponents" : [
{
"nane":"Interface"
b
{
"nanme": " Core"
}
]
}
}
Test Info JSON
{
"fields": {
"description": "Automated Test",
"priority" : {
"id": "10"
},
"l abel s": [
"Testing",
" Aut omat i on"
]
}
}

@ Example Request

curl -H "Content-Type: multipart/form-data” -u admin:admin -F "file=@output.xml" -F "info="@testExec.json" -F "testinfo=@test.json" http://yo
urserver/rest/raven/1.0/import/execution/robot/multipart

Responses

: application/json : Successful. The results where successfully imported to Jira. The following Test issues were also created with
success.



Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiral/rest/api/2/issue/ 10200"
3
"testlssues": {
"success": [
{
"self": "http://local host: 8080/ rest/api/2/issue/10201",
"id": "10201",
"key": "XNP-25"
}
{
"self": "http://]ocal host: 8080/ rest/api/2/issuel/ 10202",
"id": "10202",
"key": "XNP-26"
}
]
}
}

: application/json: Some results where successfully imported to Jira. But the following Test issues failed to be created due to the
following reasons.

Example Output

{
"t est Execl ssue": {
"id": "10200",
"key": "XNP-24",
"self": "http://ww.exanple.conljiralrest/api/2/issue/10200"
b
"testlssues": {
"error": [
{
"nmessages": [
"Field 'custonfield 10005 cannot be set. It is not on the appropriate screen, or
unknown. "
1.
"testDefinition": "Login Tests.Gherkin Login.Gherkin Valid Login"
}
]
}
}

- application/json : Returns the error.
: application/json : The Xray license is not valid.

. application/json : An internal error occurred when importing execution results.

Multiple Execution Results

In order to import multiple execution results (e.g., outputted from Calabash or Xamarin Test Cloud), you must import the bundled compressed file with
multiple execution results to Jira using the following endpoint:


https://github.com/calabash
http://xamarin.com/test-cloud

Import the execution results created with the Cucumber JSON output formatter. For more information, please check the Cucumber reports
documentation.

Request
multipart/form-data:

"filePart" : a MultipartFormParam containing a compressed zip file to import or a JSON file to import.
@ Example Request

curl -H "Content-Type: multipart/form-data" -u admin:admin -F "file=@cucumber_results.zip" http://yourserver/rest/raven/1.0/import/execution
/bundle

Responses

: application/json : Successful. The results where successfully imported to Jira.

Example Output

{
"t est Execl ssue": {
"id": "10000",
"key": "DEMO 123",
"self": "http://ww.exanple.conljiralrest/api/2/issue/ 10000"
}
}

- application/json : No execution results where provided.
: application/json : The Xray license is not valid.

. application/json : An internal error occurred when importing execution results.

How results are mapped to Test entities

Whenever importing results from some frameworks (i.e. JUnit, TestNG, NUnit, Robot framework), Xray can identify the automated test from the report
Iresults file, based on an hardcoded criteria (such as the class name plus the class method corresponding to the automated test). However, depending on
the test automation framework, it's possible to specify the Test issue key to which report the results in the test's code.

Independently of whether the test is identified implicitly (based on some attributes present in the test result file) or explicitly (based on the provided Test
key), related Test Runs are always reported against the correct Test issue. As a consequence, if you report results multiple times there won't be duplicated
Test entities.

When the identification is implicit, Xray is able to create (Generic) Test entities, if needed, per each automated test; these will be reused afterwards in
similar cases.

Whenever processing results from a automation framework, for each automated test result,

1. If the Test key is provided and...
a. it exists, then create a Test Run for that Test
b. it doesn't exist, then don't create any Test Run (since for some reason the explicitly identified Test does not exist)
2. if no Test key is provided...
a. try to find a Test in the identified project with the same Generic Test Definition (e.g. with the same class name+class method for
example)
i. if it exists, then create a Test Run for that Test
ii. if it doesn't exist, then search for a Test with the same Generic Test Definition in all JIRA projects
1. if it exists, then create a Test Run for that Test
2. it doesn't exist, then create a Test in the identified project (based on the project's key or the project associated with the
provided test execution key)

For some frameworks, including Cucumber and Behave, Tests must exist previously to the submission of results related to them.

The reason for it,resides mainly in the fact that is not possible to create the complete Test specification from the results file.


https://cucumber.io/docs/cucumber/reporting/#built-in-reporter-plugins
https://cucumber.io/docs/cucumber/reporting/#built-in-reporter-plugins
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